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Vuwjuwpwi

Uwwhnjugpnipjnilp Junptih E nhunwnpyb npybu hwipughG hw-
npwptnmipjniGatph mGnbtunipjwl wikGwhhl mnnnipjmGGtnhg dhynp:
SQtintu <pl <nnimd juqduynpynid thG YntighwGbp, npnGg qnponi-
(tnpjwl vk tp dnlnd Yniighwjh winuih dwhywl ntypnid Gpw
pGumwlhphlG npnywlh hwnmgnid mpwdwnpbp: bull hwnnignuiGtnh
$nlinp gnyjulnd tp fudiph wlnuiGiphg winwiwydwnltph hwyw-
pwqndwl dhongny: Ujdd wyn gnpownnyypl hpwlwGwgynid t Yjwlph
wywhnjugnmpjwdp qpunynn wywhnjwgpuwl pGybpnipymGGs-
nh dhengny: Uyywhnjwgpuywb paytpmpymGGtph nipp qupgugnn U
qupquguwo tpyplGhpnd htnghtint dhowlnd k, pwlGh np npuwlp
Juqimd G0 $hGwluvwlwl hwiwlywpgh vh dwup, b hwnljuwwbu
Pwlph wywhnjuwgpnipjuip qpunynn plGltpmpniGatnpn Yupnn GG
Guuwuwnb) GhpppnuiGph fupwlGiwbp Gpupwdwdytn hwnywony:
Uju nuumiGwdtpnpulijul w)uwwnwlpnid pGiwplyymd GG Yjuwlph
wywwhnjuwgnmpjwl wjl mbuwlltpp, npnlp hhdp Gl hwinhuwlnud
£ wytith pwnn dnnl Gph junnigdw b hwdwn:

b munppbpmp nil gniyjph wywhnjugpnipjul' Jjulph wwwhn-
Jugnmpjul nhypmd hwwmnmgnuip dhpm wpynid £ phGwlGuwyub
wtiupny wjl wywhnjuqpyuo whadhb, npl mGhghy £ w)uwwmnt Gu-
Ynipjwl tpupuduwiybtin Ynpniun, ud wyywhnjugpjuo wlah hw-
pwquubtnhG Gpw dwhyw6 nhypmy: Yjwlph wywhnjwgpnipjwl
uwuqbtph hwpquwnpyG niGh htnbjw] wnwGdGuwhwnymp niGGtpp.

e hwyquwpyGtinG hpwjwlwgymd GG dnnnyppugpujul yhdw-

Juqpnipjwl hhdwG Yypuw,

e npubtiu gnpohpwlwqd dwnwjnid £ hwjwlwywbnipjnGGtph

wnbunpjnilp,

e Yhpwnynmd GG $hGwGuwlywl hnuptinph hwyqwnpydwl tplyu-

pwdwiytim dtpnnGbp,

e (itttnnn npnypGhpp pwnugwd GG vh pwlh pununnhyGtinhg,

npnlighg mipwpwlynmpp Gwhwmbtujwo . wywhnjuwqpu-
Jquwl wwunwhwph wmtnh mGGGwnt muppip yuundwnltph
hwdwn:



UnyyG wpuwwnmwlpnd pGaupyynid b6 wywhnjwgpuydwnph n-
pnpuwl hpiGwliwl dnntignudGtpp hwpyh wnGhny gnun b hwdw-
fuwnG wywhnjugpuydwnGiph hghywwb plnypn:

Gyulph wuywhnjuwgqpnpjul dwptivwwmhluywb Ynndp hhdG-
Jwo t hwjwlwlwlnipniGGiph mtunipjwl Yypw, npuntin nputiv ww-
nwhwlwl dtompyniG hp hwjnm b quihu wwywhnjugpywod wGdh
Yywlph mbnnmpyniGp: Gyulph wmunnnipjwl pw2fudwl npnpdwl w-
nwohl pwjtphg t tnt; dwhwgnpjul wnnuwlyibiph Junnignuip:
Qtnlu 17-pn qupnud dnnnyppugpuijul yhdwwgpnipjub oqlini-
pjudp Junnigyt) kG wnwohl dwhwgnipjul wnnuuwlybtipp: “Hpwig
dudwlwluwyhg wnwpptpuyltiph gnpoGwiwuwl YhpwnmpyniGp 2wwn
utio k Gl wjuon, b gniquhtinwpwnp oquuugnpoymu LG hGywbtiu tw-
hwgnipjwl unynpulwl wnynuwlylbpp, wylwtu ty nhuyh pGupni-
pjwdp wnynuwybtpp, npnlg winpunund £ juunwpytp wju wyfuw-
nwlpni: Uwuw)l dwhwgnipjul wnynmuwlGtph ptipnipyniGGtphg
gqiluwynpp’ dhowGlyyw; wwphpltipnid dtwhywl hwjwlwuwbnipjub
npnpnudp, nidtith £ dhwjyG npn GGpwnpnipyniGGtnh nhwpnd, npnG-
ghg wnwyt mwpwoywo 3 dnntignudGtpn Ghpuyjwgqwo b6 wju wyp-
fuwmwlpnid: Lygwo ptipnipjnilp ppowlghint Guuwwmwyny 18-19-nn
nupbpnd 46 Untwygpp, Ubjptidp, <ndybtpgp U wjp ghnlGuywlbp
wnyb G0 twhywl hwjwlwlwlinpjuwl gGwhwndwl wiwihnhy ntu-
pbp, npnGg Ybpwptipjuy hhiGwlywl dtompmGGhpp Gipujugwo
66 <wybpJwo 1-nd: LwjuqgnyyG wGwihnhly wtuph thGuopunipp dhag
wjdu £ pwpniGuyynud k, vwlwjl qunGt) dh pnhwGpulwb $niGy-
ghw, npp pninp mwphpGipnd dhpwn Yqlwhwwh dwhywl hwjwlw-
Juwlnpjnilp, hGwpwynp sk Uyn wlhGuphGnipyniGG optigon funpw-
(nd £ dwpnujhG pwlGwlwlinpjul qupqugdwln qnigplpwg, pwlh
np nwpptp mwphpGtipnd h hwyn GG quihu dwhywl nwppbp Www-
Gwnltp, npnlg pwlwyp htimghtimb wytjwlnd £ pupép mbtfulnn-
ghwltph wnwoplpwghl qniquhtin: UpnyniGpnid wjyn pninp hwjwnmbh
U wlhwjwm gnponGGtpp vty $nlGlyghwyh vt Ghpwnbip qnpolGulw-
(ind wlhGwp E quplnd: bul] wju fungplnnup hwnpwhwnpbnt hw-
dup mwphpwjhG vwlnnuyh ypw Yhpwnynid E dwhyuwG hwjuwGw-
Julnipjuwl Yunp wn funp qgGwhwwnmnudip mwppbp $nllghwltph dh-

ongny:



dtinGwnpynd winpunuwpéd t juunwpyt] Gwbk dwhwgnipjul wyG
wnynuwlyGphG b $nlGyghwbtphl, npnlGp Guwpwgpmyd GG Yjwbph
wbnnnipjniGp dwhywb dh pwlh ywwnmdwnh nhypnid:

Uninwluwyhl YhGuwpnpwlwyhl hwdwupgh qupqugdwln
qnigpnlpwg wdnud k Gub Jyuwlph wywhnjuwqpuub dwphdwnhljw-
Jh hdnmpynGGtpny odnyjwo dwulwqbwnbtph ywhwlownpyp: dh-
GwGuwyuw hnuptiph Yyapwpbpjuw hwygupyGtpnG wyu njnpunud hhdG-
Jwo Gl ny pb nput phqGtup plyuwyGdwl jud wywqu qupqugiwl
Ypw, npp Jupbh £ juGuwnbut] gnGb jupdwdwdybn hwnygwoh
hwiwp, wjy YPwbph munnnipjul Yypw, nph ulfuwmbudwl pwjh
tpyupnipjwlnp upnn L hwuGl) 40-50 mwupgw, hul Yjuwlph wwywhn-
Juwgnnipjwl nhypnid wyl Jupnn £ hwuGl) b wGgGhy 100 vmwphG:

Uyunniwpuwuwl dwptidwwhluwb, hGiny dwptdwwnhluwgh Yh-
puwnwlyuwl nunmpniGGiphg dtyp, 1898 pywywGhg h ytp niGh nG-
miGjwo GpuwlwlynuiGhph hp jnipophlGuwy hwiwlwnpgp, npp, $Guwjwo
hn wnwohG hwjwgphg pwpn mbtup niGkgny uhdyniGtinh, hwuljwbwh
E wju ghnnipjwip qpunynn jnipwpwlsnip wldh wpuwphh gubGyw-
gwd Ytmnud: UnyyG dtnGupymd hGuwpwynphGu hwihpd Ghpluwjwg-
Jwo k wyn GoulwyniGinh hwiwywnpgh hhiGwlywl dwup, npG ntuw-
GnnGuphG hGwpwynpnipjni juw hwujwlwm dwuGwghnuywb
hnnquwoGtpnid b gpplipnud Gipyuwywgywo Gynipn:



Unwpluwyh Guyuwmwmlp b nuunidGuljub fjulinhpp

«Qyuliph wywhnjugnnpjul dwpdwmhljw» wnwnplwjh Guw-
nwln wyuqu dwulwqbmbtph dnn wywhnjugpnipjuwl dwptivw-
whjwiwl Ynnih wtuvwywl b Yhpwowywl ghnbihpGinh dLwyn-
nnudG E, npG wlhpwdtpm b Gpuwlg wywhnjugpulwb pGytpnipndG-
Gbtpnud, hGywbu (wb YeGuwpnywlwjhl yhnwywb b ny yhnwywb
hhiGwnpudbbnmd npybu wjmniwp w) fuwnbint hwdwn:

MuntiGunnipjub pGpwugpnid whiwmp L moytl htimbywy fulnhp-
Gtpn

e wliunmuwpwlyuwl dwptivwwmhluwyh hhinlpGtph nunidGuup-
nnipjniG,

e wywhnjwqpulwl nbhyph mbnh mGtGuwm hwywlwlywlni-
pjwl qiwhwwniwb dhpnnlGtnh nunuiGuwuppmpmniG hwyw-
(wywlnipymGatph mbunmpjwl shongny,

e wywhnjwqpuluwl vwlwqbtph junmgdwl nmtuwlwb b Yh-
puwnwlyuwl hdnnpmGGatph dtinpptipnud,

e phlwluwlwl hwdiwpdtpnipjul uyqpniGpph dbwynpdwl b
npw fuwfuniw fulinhpGtph nuuntiGuuhpnd:

Unwplwjh wipnnowlwl nuwuwywinnuip Gyuwunwlwhwpiwn k
hpwywlwglty hpwp hwenpnnn dh pwlh dngnyGph (puuplipugib-
nh) dhongny' niuntiGunmpjub tpypnpn mupjubhg ujuwo: UnyyG ni-
unmdGuitipnpuyul dtnGupynp Gipwnnd L wyn dnnniyGiphg wnweohl
tpyniup’

Unnny 1 — Uynniwpuwjuwl dwptidwnhuwyh hhinlGpGhp,

Unnny 2 — GtGuwpnpwlGtiph U Yjulph wywhnjuqpnipjul wy-
nntwpwul hwhy:

L2Jwd nuuplpwglbpn Gwuwmbujwo GG puywiuyph opwqnph
hwiwp, b ngpulg nuuuwywlinniG wywhnynd L hwiwywunwujuwl
ghutijhpGtph dLwynpiwl GJuquagniyl sSwywpguyn: Unwyby funpp
ghwbijhpGtph dLbwynpiwl hwdiwp wlhpwdtyn £ wnwpluyh quuw-
Julnnuip jwpniGuyt] hGyuybu pwywiuyph opwgpnuy, wjGybtu
dwghumpnuwywl opwagpnt:



NuunuiGunnipjuG wywpuwhl nouwbnnp YnGhGuw.
Quplighp

Yywlph wywhnyuwagpnipjw G mtuwyGtph yopwpbpjuy,
wlph wlinthmbwmGtph mbuwllGtph ytpuwpbpjwy,
wywhnjuqpuydwplbph hwygupyiw6 dnnb)Giph ytpwpk-
njwi,

wywhnjugpuuwl ywhnunmGtph hw)gupyiwb dtpnnGtph
ytipwptipyuy,

Uninwyuwjhb yhGuwpnywlujhl hwiwyunpgh dingbjuynpdw b
Ytpwptipyuy:

Gwpnynipinili’

wnwnppliptnt Yywlph wywhnjugpnipjuwl mtuwlylbpp b Ju-
nuwptiint wywhnjugpuydwnh hw)ywny’ pun mbtuwlGtipp,
hwyunytym  PJwlph wwywhnjugpmpjul dhwlijwg U
wlnthnbnwjhG ydwnltnp,

hwyJuwnitim wywhnjuwqpuwb wywhnumbtpp htinwljyw-
pwyhG b httmwhwjwg tnuGwyGtpny,

unpbjwynptijint vwhiwlywo hwnmgnuiGbpng YhGuwpn)w-
YuyhG wyw:

Sdpnipnil’

wlyunniupyul hw)upylbp hpwywlwglbn Yjulph wuw-
hnjuwqpujub pGybpmipyniGGeph hwdwp'  hhdGuynpbnyg
wywhnjugpujul vwyuwqitpp b wywhnjwgpuydwnltpp,
Juunwnptim wjnnmwpwlijwl yuwpnwynpmpnGGbph ybpw-
hwyJupyGp’ Ywlph wwywhnugpnipjul wwjiwlwgqph
Junudwiybn nqunupbgiwb nhiypnd,

ot quljuwwntuntdwyhG plnyph fulnhplGtn phGwGuw-
JuG yuqiwtpynipjniGGtpnd,

Jtpmotmt wywhnjugpuub nnpunphl Jtpupbpnn wwp-
ptin npnpnuiGtph htmbwGpGtpn” mwny ngpulg pwlwlwlwb
wpryniGpGhpn:



QwuwfununipyniiGbpp b gnpoluu b wupuwwdnlpGhph
wlghugiwl dhpnpuljub gnigniiGbkp

Unwpluwyh dnnniGipp wwpumwnhp Yepynyg wybwump L ywpniiw-
ytl hGswbu quuwiununipnGGtn, wjlybu £ gnpoGuwl yupww-
unulpGhp: “FwuwfununipyniGGipp Gyuwunnd 66 ptdwlbtnh wbtuw-
Juwl, wuhiywmnunhy tnuwyny fulinhpltph nodwl, hul qgnpotw-
Jwl ywpwuiniGpGtnp hGywbu mbuwluwb Gmph wipwwindwin,
wjlwtiu k) Ghpyuwjywugynn dnnhiGtph wnwyt] yuwwltpuwynp b 2npw-
thtith payuwdwln: Unwpluwyh wnwehG dnnnih jnipuwgiwl hwdiwp ni-
uwlinnhg wwhwboymu £ dwpbdwmhlywlwl wiwihgh b hwjwlwyw-
(nipymGGtph mbunipjwl hdwgmpnil, huy Gpypnpg dngnuyh hwdiwnp
wlhpwdtipm GG qghnbihpGtp Gub phlwluwlwl Jwptivwmhluwjhg:

Unnnyy 1-h jnipupwlyynip pbidwjh puuwjununipjniGGeph ppwg-
pnid hwpgnuiGtph dhongny Guuumwwhwpdwn b hppuwuGugGt) m-
uwlnnGbph dGwgnpmujhl ghntihpGiph vnnigmd hwpwlhg wnwp-
JuwGtphg U Gwhiwmbtub] n mpwdwnpt] npnpuwih dwdiwlwly wjn w-
nwplwltnphg wnyjuw; ptdwjh hwdiwp wlGhpwdtynm Gmpp hwyhpd
Gipyuwjywuglhnt hwdiwp: Unnny 2-h quuwfunumpymGGipG wnwybp
wpryniGuybn YhGaG, Gpt ntuwbnnGbpp Gwuwwbtu YpyGet dngn 1-
h hpiGwijwl qunuithwunpltpp b gpulp Juunn $pnlGlyghwbbpp, huy
bhwluwjul dwpbiwwmhlwihg wnynuwnpnyph wmbunmpjwl ph-
dw:

Gnpolwljuwl wwpwuinbplGtph dwiwlwly qmun wnbuwlwb
plnyph huGnhpGhph monuip Guuunmy £ wmbuwywl Gpoiph wd-
puyGniwbnp, huy pduyhl fuGnhpGhph (nomwip poiy £ vmwhu nuwGn-
nhG ywwmltpuglty myjwy hpuwyhdwyp gnpotwljwlnid b yuwwmpwuwm
Gt wyuwqund wjunnmwph wyfuwwmwlpnid b hwjnm Gynn Glwlw-
wnhy fulinhpGtphG nond mwniG:

QwuwfununmpmGGtpp b gnpoGuwul ywpuwuinlGplitnG wow-
bt wpyniGuwytim wigyuwglbn hwiwp vnnpl npytu ophGwy php-
Jwd E vunnny 1-h hwdwn 60, hul dnnny 2-h hwdwp' 75 wjwnbdhw-
Jul dwd munnnipjudp owlpwptinGuonipjul pidwnmhly pupunip’
pun nuuwununipjniGGtnh b gnpoGwwl ywpwuinilGpGtnh hwdiwp
hwwnljugynn dwiwpwlGuyGtph.
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(O bdwh whjwlnidp dudwpwlinl
Qwuwjun- | Gnpotiw-
unipjni Y
Unnny 1: Ujipniwpumljud dwpbduwaphljugh 30 30
hpdnilipliip
Ohdw 1: Yywlbph phnynipynifip npwybu wuwpwhwljub dkonipynili
1.1. Gnjuubdwl $nGyghw, Swhwgmpjub ) )
Ynp
1.2. Uwhwgnipjul hGunbGuhynipjniG 1 1
1.3. Uwhwgnipjul wGwhnhy opklpGtpn 2 2
Ohdw 2: Yyubiph dhwgnpnughli pingnipynili
2.1. Yyulph dGugnpyujhl munnnipjul puy- ) )
funuip
2.2. Yjulph dGugnppujhl munnnipjuG ) )
hhiGwlwé pGnipwqnhyGtipp
Blidw 3: Yyuwlbiph finpugyduwo phngnipynili
3.1. Yuwlph Ynpugywo mbnnnipjul pwptu- > 5
nuip b hhdGuywG pGnipwgphsGepn
3.2. Unnwpyuiwl dtpnnGtp ynnnpuljwjhG 4 4
nwnhplbph hwdwp
Olidw 4: Uwhwgnipjul wyyniumllikp 2 2
Ohdw 5: Yyulph Jupdwdwdlilp wuywhnjuqpnipjwb dnnkjlkp
5.1. UGhwwwlwl b gnuiwpjwy hwjnh dkont- > 5
pjul gGuwhwnnid
5.2. UGwlyugiwl hwywiwlwlnpjwub 3 3
dnunwnpynud
5.3. Uyuwhnjugpuwydwnph GrulGuydwd 2 2
uljqpniGpGtpnp
[hdw 6: Gupquujhdwlh Inpniup dh pwblih wuwpdwnny
6.1. Uh pwGh yuwwdwnny yupquyhdwyh Y- 3 3
npunh hwiwwmtin b dwpghGuy pwpfunudGtpp
6.2. Uh pw6h wwwmdwnny Jupquyhdwyh | |
Ynpunh wnjnuuwyGepp
CGpwghy pGGnipyniGGtp, nwuplpwgh opwg- 2 2
nny Gwuwntiujuo ghnbihpGhph vnniqiw G
wyy dutip
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0wy h wGjwlniip duwiwpwlimly
Qwuwjenunip- | Gnpoliw-
JnG G
Unnnyy 2: Gkliuwpnpwliliiph b julph
wwwhnyuwqpnipjul wljppniwpuljulli 45 30
hwppif
Ohdw 7: Qyubliph wupwhnjuqpnipyul dnnkjlikp
7.1. Uwhyw6 wwhhG hwwunnigynn
(wlplGnhwwm) Yyulph wywhnjugnpni- 6 4
pjwl dnnbGup
7.2. Uwhywl mwupjw ytipond
hwwnmgynn (nhuyptin) Yywbph 6 4
wywhnjwqpnipjul dnnbiGtn
7.3. Guyn Yuwlph wywhnjuwgpnip-
Jwl wlplnhww U nhuyptin dnnbGtph 2 2

uhol

Ohdw 8: Nuydwliwlpub (jwliph) whnippkplikp

8.1. UygpGwdwdytwn Yyubph

winthmnbwnGtn 4 2
8.2. Swpyuw pGpwgpnid m wlqud 5 5
Jdwnynn Yywlph wlnihnbwnbtp

8.3. UlpGnhwwu hw)yunyynn Yyubph 3 )
wlinthnbwnGbp

8.4. ®nihnfuynn ydwpny Yywlph

wlinthnbwnbbp 3 1
8.5. Bqpuinn ydwnny Yjwlph whntp-

wbnGhp 2 1
Ohdw 9: Qnup b hwdwhounl wwyuwhnijuqpu]dwplikp

9.1. dhlwluwywl yupumwynpnip- > )

JmGGtph hwdwnpdtpnipjwl uqpnilpn
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9.2. Uwywhnjugpuydwph uwh- ) |
dwldwl pywlwmhih dtpnnp

9.3. Uwwhnyugqpuydwnh ) |
uvwhiwlnuip pinGwonipjwl shongny

Ohdw 10: Yywliph wwyywhnjwgpnipjwl (bwpbduaphljuliub)
wjwhniuplikip

10.1. Mwhnuwnmbtph hw)yupydwb

uljqpmGpGtpp b npulg hwiwnpdbpnip- 4 2
Jniln

10.2. Mwhmuwnmbtph hw)yupyiwb ) )
wlnpununéd pwGwdlbp

10.3. UlpGnhwwmnnpbl hwpyunpyynn ) )
wwhniunGtip

LGpwghy plGanipynmGatp, nuuplpwgh

opugnny Gwuwwmbugwo ghnt- 3 2

1hpGtph unniquw @ wy dubip

Uhjunmuwpuluwb GuiulmdiGhph dhowqqujhl hwdwljupgp

Uyunniwpltph dhowqqujhG hwdwgnidwpp 1898 p. hwuwmwintg
wyunnupwiwb GuiwynmibGtph dthowqquyhG hwdiwlwpgn [1], npp
Gywuwly nlGip wwywhnynt GuwlwlnuiGiph pGprGhhnpndin
puqiwquli wijnnwpuwl gpuijulnipyub Wb wlqtntl b wyy 1b-
qniGtipny: Ugunnmwpwywl GubwlynuiGtph hwiwwpgp pujuyjwl
owywinil £, ntunh unnpl Gipyuwjugduo b wmniwpuwyul Grwlw-
ynudGtph wjG hpiGuwlywl dwup, npl wGhpwdtyw t Gywuo 2 dnnnig-
Gtph nuunmiGwuppnipjwl hwdiwn:

1. Qyunuwpumljub $nGlghmb Gtipjujugynd £ npnpuyh wnw-
nny, npp mwppbp Ynnibtiphg hwdwnynid £ pptl Guwfunpgnn b hwonp-
nnn hntpultinny nt gnighgGtpny: Uju hhiGwlwl G)uwl6 wpnwhwj-
unid £ wlijnnmuwpwlywb niGlhghwyh pnhwlnip pGniypn: Unnpl Ghp-
Jujywgywo bl nuuplpwuglbpnd Yhpwnynn hhiGwlwl dtonpniG-
Gbpn.
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l-p nn9 Ywpnywlg shohl pwlwyG L,

d-0 dywhwgwobtph dthohG pwGuyl k,

p-G nn9 WGwnt hwywlGwwlnipniGa t,

q-0 twhwGwnt hwJwGwlwlnpnGa k,

©-G dwhyw G hGntGuhynipjmGa E,

E-G dwpnip (puytignipjul Gepyu wpdtip k&,

A-G wyywhnjugpnipjwl wimniupwlwl Gipjuw wpdtpG k,

a-0 wlnthwntwp GEpyw wpdbpl t,

s-p wlinthmtimh Ynunwwo wpdtipG t,

P-G mwuptjul qnun wyuwhnjwqpuydwn t,

V-G wwhniunh dkonipyniGa t:

Uju GwGGtpp hwdwwywwuwuuwb hGnbpultipng b gnighsGhipny
hwiwptinig htimn vnwgywo dtonpjniln shwlywlGwlnptl gnyg k
nwhu $nllghwyh YnGyptnm plnyypn:

2. Lwonpynn hlgkpup (Gtpplh we wGyymbGnd) gniyg £ mwhu
wjl wnmwphpp, npnd nuunudGuwuppymy b $nllghwl, ophlGwly p,-p
gnijg k mwihu x mwptjwl widwlg dwhywl hGubGuhynpniln:

w. Gpt mwphp gniyyg wmynn dtonmipnilp hwonpnynn hGptpumd
quiymu L «pwnwlyniuh» thwlwqotiph dto™ [x], wwuw w6 gniyyg L
nuwhu, np wGap nyjuw muphpnd Ghpwnyt] t nhulh pGupnipjudp
fudpmd, ophGwy dpy-p gnyg E wwhu wyl wldwlg pwluyp,
npnlp x mwpbjwlnd Ghipunygt] GG nhuyh pGupnipjudp fudpmd b
dwhuwgti bl x-hg x + 1 mwphpltph dhol:

p. Lwonpnnn hGntpumd Gwo thwlwqdtinhg nnipu gnidwpynn
dtonpjniln gnyyg & wmwihu wyl dwiwlwljwhwnywon, npG wpnbb
wlgh] L nhuyh plupnipjudp fudipmd GGpwnybinig htunn, ophGwly
lixj+¢ -0 gnyg £ wmwihu x + ¢t mwuptul wyG widwlg dhohG pwGwlnp,
npnlp ¢t mwph wnw9 plngpldty GG nhuyh pGupnipjudp fudpnid, huy
lix+¢-G gnyyg L wnwihu wjl wGdwlg dhohlG pwlwyp, npnlp x + ¢t
nwpbjwb GG U htlg wyn mwphpmd GG pGYyt; rhuyh pGupnipjudp
funuip:

q. {wonpnnn hntipunid wwphph YnnphG Yupnn b Gk : n| Gow-
Gp, npp gniyyg L mwhu w6 dwiwlwywhwnwop, npnd whwp L
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wmbtinh niGhGw npnpuwyh hpwnupénpynl, ophGuly Q] -0 WP-
nwhwjnnd L wlnthmbwm, npp YGpyhy E x mwpbjuG wGéh htn b
Jdwnpytjn £ wnwytjuqniip n mwnh:

1. Lwonpnnn hGntipuh mwpptiphg nput dGYh Yeptnnd hwynmGquo
pGwywd phyp phyp gnyg E mwihu wyn hpwnupdmpjniGph ntinh
mGblwnt hwonpnwlwlnpyniln, nph phypnd jupgh hwiwww-

nwufuwl hwwmnignuip: OphGuy A}c;m'ﬂ Gopyuwjywglmd E Yywlph n
nwnpju dudytivnwghlG wywhnjuqpnipynilp, wjuhlpl, tpt nhunwp-
ynud kGp nputiu 2 hpwnupdnipyniG wGéh Yywlph wmbunnnipynilp, npG
wpunwhwjnymd Ex-ny, b ywjiwlwqgph dudiytimh wmunnmpjnilp,
np  wpnwhwjunymd £ n wwnh thongny, www iﬂ qntyny’
dwwnlwlymd tGp, np wGdh Yulpp wnwohlp whwmp L wjwpuyh,
npytugh wnpyh hwwnmgnmd: buly Axlm—| uhiynp Ghipyuwjuglnmd En
nwnpjw dwpnip [puytgnipynilp, wjyuhlpG Gwhu wbwunp b wwy-
Jwlwgph dwiybivp wywpunyh (Yuy, np GnyGaa k, wGép sdwhwGw
UhGsb wuwjiwlwgph wyjwpup): UL wy ophGuynud axzyz , X-h
qlfuwytplmy gpywo 2 phyp GouwGwynd k, np wlnthmnbwnn Yydwnyh
UhGsb wyl dwdwluy, tpp x mwphph wGdp dwhwlw x, y, b z mwnphp-
ph wGdwlghg dwhyw( htippwwlnipjwip Gpypnpyn:

3. Vbwjunpyny hGybpup (Gepplhp dwju winiGmy) gmyg L
nwihu munuiGwuphpmpjwl ulqphg wigwd dwdiwlwywhwnywon,
ophGuwy V-G gniyyg L wwihu, np ywhniunp hwyduwpywo b wuyw-
hnjuwqgpuljuwl wuwydwagnh YGpnuihg ¢t dwiwGuwljuwhwnywo wig:

Gpt (wjunpnnn hGnbpumd ppynmud L munpnuwhwjwg qohly, wjl
gnyg b wniwhu htnwdqiwl dwiwlwjwhwnquon’ ,A,-p, b wl, np
wwjiwbwghpp YGpyty E x mwpbwl wGdh htn, vwyw)l hwwunni-
gnuip Yupyh, tipt twhp mtinh nGiGw wnGjuwqb n mwph hnn;

4. Lwonpynn gmghsp (Ytpth we wGyniGmd) gniyg t wmwihu
hpwnupénpjuG hwdwhpwwlnpjnilp, b wjG dhpn npymd k thw-
Juqobtpnid, ophGuy’ a,(cm)—]g wlnihnbtw E, npp Jowpynud £ mwupju
plpwgpnd m wlquui: buy tpth wyl@ ngpymd E dwhwgmpjul
wnynuwyh mwpptph htin, www gnyyg £ mwihu dwhywl yuwwdwnp,
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U 2w hwdwfu thnpinilp swnwowglbnt Guywwmwyny GyJwo dtoni-
pjnGGtph htn fhpwntihu hwywaqotinp pwg GG pnnGynud, ophGuwly
dX-G yuy d,(ck)-ﬁ gnijg GG mwihu wjl widwGg pwluyp, npnlp Jwhw-
gty b6 x-hg x + 1 mwphpwjhl dhowlwjpmd dwhwgmpjul k -nn
wwwndwnhg:

5. Vbwjunpyny gmghsp sniGh hwdpGnhwlnip Yhpwnnipnid,
uwlw)G npn) dhonipjniGGtph htn niGh hunwy GyuwlwynipjmG:

w. ‘Lwjunpnnn gmghyn Wwhniunh htwm Yhpwntijhu gniyyg & nw-
1hu  wwywhnjwgpwydwnpltnh Jdwpiwl JdwiwGuuhwnywon

wnwphGtpny, ophGuy’ "}V(nlax) gniyg £ mwihu dwdwluyp t yuwhhG
wjl ywjiwlwgph ywhniunp dtonipjniln, nph hwdwp wywhnyw-
nhpp m wmwph ydwpbtint & wywhnjuqpuydwn, huy wujdwlwgph
JGpniihg n muph wlg uyubint £ vnwlw] winthnbnwjhl Jdwnplbp
(unynpwpwp GdwG nhwypbpmd m < n):

p. Lwhunpynn gnighsyp Ywlph wwywhnjugpmpjul wymniw-
puwyuwl Gepyw wpdbph htim Yhpuntihu gnyg L vmwhu hwygunpy G-
pnud mnynuwnpniyph  hGuntGuhynmpjul wwwmhynipyniGp, ophGuly’
2A,-p pdwuwnny GnyyG A,-G, ShwjG pb hwpywpyGipnud mnlnuwnpng-
ph 6 hGubtGupynipjul thnfuwptlG Yhpwndwo t 26 dtompnilp: Uw
hwwljwwtiu Yhpwnynid £ nhuybtipuhwjh pnpaing:

6. Gwjunpyny 7 b D wnwntpp Jwwnlwlnd GG JdwpndGhph
hwiwywunwufuwlwpwp wdénn b GJugnn plnypp pJupwlwlub
wpngptiuhwyny, oppGuy (Ia),-p gdwh winthnbmwjhlG JdwpmyiGbp
LG, npuntin jnipwpwlynip hweonpn Ydwpndp dko L Gwjunpnhg 1
dhwynpny, huy (DA)xm—l—]g Yywlph 7 mwupju dwdytmwyhl www-
hnjwqpnipjniG E, npmbtn nppwlG mp E qpulgynid dwhp, wjGpwG
wybih thnpp qnudwp L hwunnigynid (hwnnigiwl Gipwljuw gnidwpp
Juipwpwlsnip muph Gjugmd k1 Shwynpny):

7. Qqlumybtpbh hnppgnwmyub qohlp Jywymd £ wjl dwuhl, np
nunidGuwuppynd £ hwiwwyuwunwufuwl pniGyghwh «wlplnhwwm
nwpptipulp, ophGwy’ A,-G wpunwhwjnnud £ x mwpbljul wiéh htn
JyGpwo Ywlph gdwh wwywhnjugpnipjwl wyl wwjydwlwaqhpnp, nph
hwwunignuip wipytine £ wywhnjugpjuo wldh dwhywl wwhhG:
Qwnulywlwl t wwpplpty (J4) b (TA) uhdyniGtpp: pwlghg
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wnwohlGp gniyg L wmwihu, np YydwpnudGtpp muptwG 1 dhwynpny
wdnd GG, b hwnngnuip mpynmd E dwhywG wwhhG, huy Gpypnpygp
gnyyg bk wwihu, np JowpnuiGinG wémd 6 wlpGnhwnnptG wnw-
ptywl 1 dhwynp hGubGuhynipjudp, b hwnnignip wmpymd E dwh-
JwG wwhh:

8. Qqluwyliptp YhmhyGhpp Yhpwoynd GG winthmbtwmbbph htn
wmwpptipnt hwiwp uyqpluwdudytn b YytpgGwdwdytin wlnthnbwn-

Gtpp, ophGwl ™ -p GywGwynid t, np wlnthwtnwghG JawpGhpp
Jquuuwpymd G0 wnwpjw pGpwgpnid m wliqud” jmipwpwlymnip vh-
owljwjph ulqpniy:

9. Qqjumybplh onulyp gniyyg £t mwhu dhonipjwl wipnnowlyu-
Grupjnilp, wjuhGpG wyl hwpqupyqud bt nhuwpyynn nng pGpwgph
hwdwn, ophGuly Zx—ﬁxmluphllulﬁ wldh Ywbph dhohl wlnnnip-

JnGG B, huly c;x-ﬁ w)G wlnthnbw &, pun npp’ ydwpnd £ junwpynd

Gwb wjl dhowllyjuw dwdwlGuyuwhwunywoh hwdwp, np6 pGywo L
wldh dwhywl wyuwhp b wlnihunbnmp yapohl Jewpdwl dhol:
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QwuwfununmpyniGbpp b gnpotmub wupuwwdnlpGhph
phitwwnpl] pnjwlinuynipyniGp

Unnpny 1:Uwmniwpuwjuwi sfwpidwnphlwjh hhdniGpbkp

ortdw 1. Gyulph mbnynipynGp npybtu ypuunwhwljub donpyn

Otiwyh Gyuwunwll t Gepuywuglty Yywlph nmbnnnipyniGp np-
whu  ywuwhwiwl Jeompnil: <wjwlwlwlwjhG puwpfudwb
InGlyghwyh oqlimpjuip uvwhiwlymd b GnpwoGh Yywlph uvwuwu-
Ytihp T wbnnnipjuG hwdwp gryuiplidwb s(x) pnilijghwti, Gtplu-
Jugynud t6 ngpuw hwnympjnGGtpp U Jhdwjuwgqpulul hdwuwmp: N1-
untiGuuppynud £ Gub hwiwywunwufuwG ummpjui f(x) = — s'(x)
PnlGyghwl, npl winmnmuwpuwywl dJwpbdwnhyuwnd wlijuwlind GG
dwhwgnipjul §np: "G)quo tpym dhonmpjniGGtph dhongny vwhdwG-

Yl & dwhwgnipjul plisphlivhynipinilip p, = [ L pGGwpyynd GG

s(x)’
npuw hwunympnGGatpp: ‘Lipjujugynd GG Gub Yjulph munnnipjwb
wj] dwipnpGnipwqnphyGtip, dwulGwynpuytiv gnipu 66 pipymy pwlw-
adutip dhohGp’ 20 = Om s(x)dx, nphuytpuhwjh b dnhwlh hwdwn: ©6-
dwyh onowlwyGtipnud pGGwpyynd b6 Gl twhwgnipjwl wGwihwmply

optiGpGtpp, npnGghg <wybpJwo 1-md Gupugpdud GG 96 Unuwyph,
<ndytingh, Utjphtidh, dbjpnih b Eppubgh dnnbiGhpp (ntu [2], [3]):

Uwmnighs huipghip

1. h°Gs hwnYynipjniGGtp niGh gnyjuumbdw G $niGyghwa:

2. b°Gs yhdwjugpuwl hdwuwm mGh gnyunbdwl $mGYyghw:

3. Upnmwhwjnt] gnjuunbiwl pnlyghwl fummpjulG pniGy-
ghwjh dhongny:

4. N°nG t dwhwgnipjuG hGubGuhynipjuG hwwlwywiwjht
hdwuwmn:

5. h®Gs hwnynipyniGGtp mGh Swhwgnipywl hGutGuhynipniGp:

6. Upnmwhwjnt] gnyuunbiwl dnillhghwl dwhwgnmpjul hG-
wmbtlGuhympjul vhongny:
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Unwownpubph ophliwmy

1.1. 8n1yg wuwy, np s(x) = e pmblyghwl x € [0, +0) show-
Juypnid Jupnn b hwinhuwlw) gnyunbdwl $nilyghw: Fnipu plipty
hwdwywunwuhuiw f(x) Jwhwugnipjuwl Ynpp, 4, Swhwgnipjul hG-
wntGupynipyniGp L go ywlph dhohG mbnnnipjniln:

Lnionud

UyGhwjywu t, np s(0) = 1;5(+0) = 0 b prullyghw whpGnhwn t:
UGnud t gnyyg miwy np mpjuo $nilGlyghwl x € [0, +00) dhowlujpnid
GYuqnn £ (03 fuhum): LwGh nps’'(x) = —2xe™ <0, wyw unwg-
ynud k, np huuwtiv mpgwo $niljghwb Junpnn L hwinhuwlw) gnjw-
nbtwl $nyghw: UwhwgnpjuG Ynpp f(x) = —s'(x) = 2xe™*",

f®

dwhwgnipjwl hGuntGuhympniln YhGh w, = 00 2x : Yjwlph

Uhohl mbnnnipjnilp Juntijh £ hwpyt) htmbjw) pwlGwdlny

go = J xf(x)dx = Zf xZe " dx:
0 0
Quuwptiny thnthnjuwlwlh thnfuwphlnud b Yhpunbing Gwidw
dniGyghwyh hwwnympymGipp (nbu  <wdbpwo 2)° YJuuwgyh
o
eo=T(3)=3Vr ~ 089
1.2. dwpyky 20 ywlph dhohG wmlnnnipjnilp, tipti twhwgnmpjwb
hGutluhympyniGG pGnniGnid £ hbnbyw) wpdbpGtipp
0.001, te[0,5)
U, =< 0.004, te[570):
0.2, te[70,+)
Lnionid
Uju niypmd Jupnn Glp oquayly Yywbph vhohG mbnnmpjwl hw-
dwp unwgywo htimbjw) pwGwalhg.

go =fs(x)dx

0
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Uwluwyl wGhpwdtyn b Gwju qulb; gnyuubdwl $nillghwjh
hwiwp wpmwhwjmnipynil: G-huntlp, np

X

s(x) = exp —fytdt :
0
Qhunwpytilp htnbyw) nhwypbpn.
tipp x € [0,5),
X
s(x) = exp —f0.00ldt = ¢~0.001x
0
tipp x € [5,70),
X 5 X
s(x) = exp —futdt = exp —fO.OOldt—fO.OOAIdt
0 0 5
— £0.015-0.004x,
‘LiwlGwwuhy mpnhdwdp k) yunwgyh, np tpp x € [70, + )

X

s(x) = exp —futdt

0

5 70 x
= exp —f0.00ldt—f 0.004dt — fO.Zdt
0 5 70

— 13.735-0.2x,

Yjwlph dhohl munnmpjwl hwdwp ynmGEGwGp.

0 5 70
o
ey =fs(x)dx= fe—0.00Ide+ f e0:015-0.004x 7,
0 0 5
+0o0

+ f 613.735—0.2)6dx ~ 65.78:

70
1.3. 8n1)g wmwy, np Ywhwgnipjwl 4+ Untwyph optlph Gtppn

n|@x hujulwlywlnpynp ywhugwo st n-hg:
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Lniomd

9t Umuph opklph nhwypnud s(x) =1 — g, npubin w-G uwhyw-
GuwjhG mwnhpl & (ntu <uytpwo 1 b wnwownpwlph ophGwy 2.1-p):

buy g, hwjwlwlywlnpjnilp upbih b wpunwhwjntp hbnbyug

tipuy.
s(x+n)—s(x+n+1)_

n|dx = s(x)
Stnunptilip hwiwywumwuuwl wpnmwhwjnnpniGGLpp.
joxtn_ o xkntl
o

bujuuybu uwnwgytg, np b Unmwyph wlwihnhly optGph
nbiwpnid , q,-p Yuiuwo sk n-hg:

Obdw 2: Yywliph dGugnpyughG mbngnipyni b

Npnywyh muppph hwuwd wGép Yyulph dGugnpnujhl mbnnni-
pyniGG (T,) twywlnptl wwppbpymy E GnpuwoGh Yywlph wlnnni-
pniGhg (T): Upu ptduyh Guuunwyl t wyn wwppbpnipymGGhph
hunwltignudp, hGswybu Gl npn)wyh x mwphph hwdwp Yywlph
mnbnnmpjwl pGnipwgphpyGiph ipuptipnuin: Uwulwynpuwbu, gnipu
GG ptpynd pwlwaélbp’ Yywlph dGuwgnpnuihG munnnipjul pupfu-
Q' Fe(t) = “==4  gqnpunliwG’ s,(6) = S(;E:)t)'
f(®) = %:;) PniGyghwllnh, Jwhwgmpjul hGnkGuhympjul
Px(t) = tere > Wwlph  GhohG  dGwgnppuyhG  wlnnnipjul

e, = ﬁ 2 swdu b Yywlph wuGwyh shohG GGwgnprujhG wln-

U funnmpjul

Tlx) L7 s(wdu hwdwn (wbu [2], [3]), hiswbu Gl
(wpuwqgpynid £ dhowqqujhl wimnmuwpuwlywl GuwlwlnuibGtph hw-
dwyupgp muppuiuwl twiwpgquyny: UwuGuwynpuwtiu Ghplujwg-
ynud GG unyl dtinGuwpyh hwiwywunuwufuwl ptdwjh wnwly GYwo
I-hG ytwmh nmwppuywl $mGyghwbbpp, 2.w. L 2.p. Yanbpp, 3-py L
9-nn Ytwnbpp:

(o]
nnpjul’ e,z =
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Uwinighs hupghp

l. PGyut®u & wpnwhwyjnymd Yyulph dGugnpmujhlG wmbngni-
piniln (Ty) Yywlph wbnnmpyudp (T):

2. b°Gy hwnympymG niGh T, dtompjul htwm Juywd dw-
hwgnipjwl hGunbGuhynipjniGn:

3. Npn®Gp GG Yuwlph dGwgnpyuyhG wmbnnmpjul hhiGulwG
pnipugph; Ghpp:

4. N°nG t YywGph dhohG dGwgnpnuyhG wmbnymipjuG b Yyuwlph
dwulwlyh uvhohlG uWlwgnpnujhG wbnnnpjul wmwppbtpni-

pynGn:

Unwounpuwliph ophlwy

2.1. Spwo k f(x) = %,x € [0; w] dwhwgnipjwl Ynpp: n'ipu
phiptp wpmwhwjnmpymGGahp £, (t), s, (t) U w, (t) PmGyghwbtph hw-
dwp U hwpyby p, (6, ec;o u 230:5—0| dtompniGGtpp w = 100 uwhdw-

GwjhG nwnphph nhwpnu:
Lniomd

‘Lwhi U wnwe GHuutlp, np wpjwo opklpp 4+t Untwyph
optiip L U npmpu phpbGp wpwwhwjymmpniG s(x) gnyuumbdwl
$niGyghwyh hwdwp' nwnpnipyniG qupdltng x € [0; w] wuydwGh
lhlull.

s(x) = ff(t)dt - fw%dt -1 —%z

Jwpytilp
_fx+t) 1
fe(®) = s(x) w-—x
Npnpwyh x wwppph hwuwo wlGdh hwdwp gnjuunbdwG
$nGyghw YrhGh.

! hGwuntqpuh ytphl vwhdwnid co-p thnfuwphGynud £ w-ny:
22



x+t
s(x+t) 1==—F— w-—x—t

t) = = =

sx(t) s(x) 1-% w—x
)
buly Ywhwgnpjul hGntGuhynipyniGp’
f(®) 1
t) = = :
He (1) s, () w—x—t

Ujdd Juptih £ hwpyt) wwhwloynn vhonipymGGhpn.

H1o(t) =

90 — t
; —fw tdt—wf_x<1 ‘ )d = (0 —x) S
€20 = Sx() - w—x X =w-—=x Z(G)—X)
0 0 0
_w—x:4o_
=— .

Ujuntin hwpyuwynp £ npwnpnipynil gunpd Gty hGntqpuih ytpha
uvwhdwGhG: -G gnyg L mwihu, pt pwlh wmwph £ hGwpwynp wwypty
x mwnphphg htimn: Lwlh np wGdl wpgtl hwuby L x mwphphl, huy
uwhiwlwjhG mwphpp w-0 £, wyw Gw «qupnn b» wwypt wnwytjw-
qnijGp bu (@ — x) wmwph:

. 50 5 150
€30:50] = f Sy(t)dt =50 ———| =32.14:

, 140 0

{wny b G, np hwydupyh wpynipmd wytwp £ umwgyh

i < M

Ortdw 3: Yywbph Ynpugymd mbnynipyn b

EOtiwjh Gyuwunwyl E nuundGuuhnty Yywlph Ynpugyuwod nlin-
nnipynilp' K, = [T, ]: Uju wuwuwwhwlwl dtonipjul hwiwp nonipu GG
ptipynud hwiwwwunwufuwl  hwjwlwywlwihG pGopwgphyGtpp
wnpunwhwjnywo Yjuwlph dlGwgnpnuyhG wnbnnnipjuwl plGnipwqnhg-
Gtpny, oppGwy pwtudwl hwiwp mGhlp

P(Ky=k)=P(k <T, <k +1),
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hul dwp. vyuuiwl hwiwn' e, = ?lx)z,‘f:l s(x + k): ©tiwgh ypow-

(wylbpmu pGGwpyynd G6 Gwb YnnnpwlwjhG mwphplbpnmd Yjwa-
ph mbnnnipjwl pnipuqphsGtph dnnwpyuwl dkpnnltpp (nbu {w-
ytwo 2), npnlp GG.

«Uwhtph hwjwuwpwswth puwpfudwG»

sn+t)=1A—-t)s(n) +ts(n+ 1),
«wumnwunnt G Jwhwugmpjul hGutGuhynipjulx»’
s(n+1t) =s(n)ph, u

«hybtppnihyy (Qud «Puynnighh Gepunpnipjwb»)’
1 1—t t

s(n+1t) - s(n) + s(n+1)
unntijGtpp (nt'u [2], [3]):

Uwmnighs huipghip

1. hGswbt®u £ wpnmwhwjmymd Yyubph Yinpugdwd wnbnnmpjnt-
Gn (Ky) Yywlph dGuwgnprpughG mbnnmpyjudp (Ty):

2. b°G; hwnynipjudp £ odnywd mwpju pGpugpnid dwhwlw-
m hwjwlwlwlmpmnilp «Uwhtph hwjwuwpwswth pwpiu-
dwl» dnnlih nhypnud:

3. ‘Llwpugpt] «dwunwnnil Jwhugnmpjul hGuntGuhynpjwl»
dnnbin:

4. h°Gs tGpunpmpymG & yuumwnpynd «phybippnihlp» dnnbnud:

Unwownpuliph opplwly
3.1. {wjwnlh t, np.
e40 = 45,641 = 44.7, €4, = 44:
GGt hwjwlGwywbnipniGp, np 40 mwpbuwl wiép yuwph bu
2 wmwnh:
Lnwonud
‘Luwfu Gyuwunklp, np
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o]

ey = EK, = Z nPx*

n=1
Uww)G »pyx = Px " n—1Px+1"
Ujuyhuny
€x = Dx z n-1Px+1 = Px Z nPx+1 = Px (1 + z npx+1>
n=1 n=0 n=1

= px(1+ exqq):
Utp Guwuwyl t hwpyby ,p40-n, npp Junbijh L wpnwhwjnty
2Pa0 = Pao * Pa1:
€,-h hwiwnp vnwgywo winpunupd pwGwdlhg YniGhGubp, np

ey 45
P2 = e, 457

ey 44.7.
p41_1+e42 T 457

UpnynilGpnid

44.7
2p4_0 = E = 0.978:

3.2. Qwjwlh t, np lyy = 7746, huy ly; = 7681: Qw1 tao25 1
htimbjwy GapwnpnipyniGGtph hwdiwnp

w. nmwpyuw pGpwgpnid dwhtph hwjwuwpwswih pw)funid,

p. hwunwwnniG Ywhwgnipjul hGunbkGuhynipjniG,

Q. pwinnighh hGpunpnipjmd,

1. Quwlph uvwywuybjhp wbnnmpmGp GGpwpyynd  E

[, =1000v100 — x optliphG:

Lnionid

Uwnpl Gipyuwyugduo pnnp pwGwdbbipnin €N, 0 <t < 1:

w. Swpyw plpwgpni dwhtph hwjwuwpwswh pwfudwG
Gapwnpnmpjwl nhypnd gnyjunbdwb pniGyghwjh hwiwp mGhbp.

s(n+t) =0 —-t)s(n) +ts(n+ 1):

Ujumtinhg Junth £ qult] junnipjul pniGlghwb b hw)pytp hw-
Jwuywnwufuwl pyg,s wpdtpp' YtpgGhng n = 40, t = 0.25 pytpp:
UwluwjG Juptih & yhpunt hbnbyw pwGudalp (nbu <wudbpjuo 2).
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Adn

Unye =

1-tqn
npwntn g, = %:
Ujuwghuny
Uao2s = 20 — = 0.00841:
1—-0.25 (1 - 14—1>
40

p. fwunwunnG dwhwgnipjul hGntGuhynipjul
hwjnGh t, np
s(n+t) = s(n)pk:

GunGtlp fumnipjul pniGyghwb

f(n+t)=—-s'(n+t) =—-sm)p.Inp,:
(ipntinhg £

Pn+t = —Inp,

Ujuyhuny

Hao2s = —Inpyo = —an—; = 0.00843:

q. Punnighh GpunpnipyniGG t°
1 1-t t

s(n+t) @ s(n+1)’
nph nhypnid unwgynid  (nb'u {wdbjuo 2).

_ Adn
Hn+t = Pttdn
buy pywjhl wpmwhwjmnipjudp
Ll
— l40 — .
Hao25 =7 TN 0.00844:
7L +0.25 (1 - ﬂ)
lyo lyo

ntiypnid

1. Spwo pniGyghwjh nhypmd dwhwgnipjul hGntGuhynt-

pjniln Juntbih L unwlwy htnbjw) mbupny.
N —

Hx l,  1000Y100-x  2v100—x

Gy mbtnunpbtinyg x = 40.25 fumwGwbp 0.00837 wprynilpn:
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Ohdw 4: Uwhwgnipjub winyniuwmlybp

Yjulph wnlnnnipjul htim juwyywo Jhdwljwgpuywl wnyjug-
GG withnthymd G0 wijnnmwpuwywl dwptidwnhluwjh wdtkiwlhpw-
ntiih qnpohplGtiphg dtynid, npl nbGh «Jwhwugnmpjul wnmnuwyGtp»
wijwlnuip: Uyu ptdwjh ppowlwlGpnd Ghplujugynid GG unynpw-
Jul dwhwgmpjul wnyniuwyh wmwppbpp' L, dy, Py, G5, U nnulg dhol
wnlw Juwubtpp: Lhpyuwjuwgymd GG Gl «nhuyh pGuopnipjudp»
wnynuwlltpp b «awhdwluwthwly dwiybnny» nhuyh pGupnipjudp
wnnuuwllhpp: BJwjhG oppGwybtph Yypw pGGwpyymd GG wju 3
wmhyh wnynuuwlltph dhot mwpptpmpmbGGipp b gpwlghg mipw-
pw(sjmph wnwGdGwhwwnmynipniGGtpp (nbu [2], [3], [4]):

Uwinighs hupghp

1. Oput®n b hGyyt®u GG Yhpwnynd dwhwgnipjwl wnjniuwy-
Gtpn:

2. 0°nG t npuyh pGupmpjudp U unynpuywl  YywGph
wnynuwlGtph mwppbpnipyniGp:

3. hGyyt"u GG hwpdupyh dhy JwulGuwlygmd uwhdwGuhuy
duniytimny nhulh pGupnipjudp wnnuwlyltph nwppbpp dwdiyinh
wywnpuhg htimn:

Unwownpuliph opphliwy
4.1. Unnpl ptpJwo £ 2 mupjuw vwhdwluwithwy dwdytnnyg
nhuyh pGunpnipjudp Yywlph wnynuwyn
x I lpger | Lz | x+2
70 70625 | 69954 | 68839 | 72
71 69137 | 68402 | 67252 | 73
72 67575 | 66770 | 65578 | 74

GlGpwnntiny, np YnunpwluwjhlG mwunphplbph hwiwp fhpwnymd
L dwhbtph hwjwuwpwswth  pwfudwl  dnunwpynudp, hw)yb]

0.89[70]+0.3711:
Lnwonud
Upnwhwjmtlp (gq[70j403 -0 wnmuwynmd wpjuwo dhoni-

pjntGGaph dhongny
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l
0.849[70]+0.3 = 1- 1[70]—+mi
[70]+0.3

UnunnpuwluwjhlG nmwphplGiph hwdwnp Jhpunting dwhbph hwjw-

uwpwswih pupfuiwl dnnbp (nbu <wybpwo 2) upnn Gap qpt.
l[70]+1_1 = 0.91[70]+1 + 0.11,, = 69843:

UWu wpnwhwjmmpjul tpypnpn gnudwnptihG YihGtp O.ll[7o]+2,
uwuwyl wnynuwlyp 2 nmwpjuw vwhiwlwhuwy dwdytn nlGh, ntunh
wtinp k qpti 0.11;,:

buy hwjnwpwpnid nGtGp

701403 = 0.7l[70) + 0.31[70)41 = 70424:

Wyuwhuny' 841701403 = 0.00825:

Orbdw 5: Yywliph jupfwduwdlbn woyyuwhnwqpnipjub dnnbyikp

Uju ptidwjh GuuwuwyG t nwwlnnhlG owlnpwglby Yjwlph
wywhnjuwqpnipjwul wyl uJnnghjGtph hbwn, npnlGgnd hw)dh sh
wnlynd  GepgpnudwghG GuwdwnwpbpnipyniGp, wjuhlpG  Yjwbph
wuywhnjuwqpnipjul ywjiwlwghpp qnpond £ wnwybjugny)Gp by
wnwnh: Otdwgh powlwyltipnd Gwju, b wnwe pGGwplyynd GG wa-
hwwnwlywl hwymbpp b wuwpqugnyyG nhypnd nnipu £ phipgnd
pwlwdl qnin wywhnjuqgpuydwph vtonmpjuwl hwdwp: dbpmnont-
pynGG pGuyGynid £ dhubniyG mhyh wywhnjugqpujul ywjiwlw-
qntiphg Juqiywo wuwynuwyh Ypw, b nnipu b optpynud gnudwpyug
hwjwmh pwpfunudp: dtpohlGu Yunpbh £ yuwwpt) hGywbtu thwpnyyp-
Gtph, wyGwtu £ 0Gnpn dmGyghwyh oqlinpyjwdp: Gnidwpjw) hwjnh
vhongny qlGwhwwnynd bt ulwlugiwG hwjwGwlwuwlnpynilp, U
pbidwl withnhynd & wywhnugpuydwnh GuwlGwlydwb uyqpnilp-
Gtph pGGwpydwdp, npp Ghpwnmd t hwdtjwydwnph vwhdwlnuip b
wlihwnwluwb hwytpuwydwnh hwpgwpyiwb htnbjwy dtpnnGtph Gop-
Jujwgnudp’

Uwwuynn YGwuh Juwd gnun wywhnjuqpuydwph hwdwdwu-
Gmpjuwdp' l; = k- E&;:

Qhuybpuphwyh hwiwdwulGnmpyuip' l; = k - Varé;:

Uh9hG pwnwyniuwjhG 2tniwl hwidwdwulnipjudp

li =k- ,/Varg‘i (lIthl [2])
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Uwinighs hupghp

l. hPGywt®u £ hwpqupyymd gnun wywhnjugpuydwpp wihw-
nwlywl hwymbtiph dnnbjnu:

2. hGswhup® GGpunpmpymGatp G6 npymd gmdwpjuwy hwjnh
unnbith hhipnud:

3. P°G; £ uGwGiugnuip, b hGsyb®u E dnnwpyynd uGuwijugiwb
hwjwlwlwlnipyniGp:

4. hGsn™1 npybu wywhnjugpuydwn sh pypuiGmd qgmun w-
wwhnjwqpwydwpp:

5. B°Gs £ hwytjwydwpp:

6. bGywt®u k& npnpynud hwpwpbpuul hwybjuydwnp ghunwny-
ynn dbpnnGtpnud:

7. bGywyt®u L npnpynd wywhnjugpuywpp ghuwpyynn k-
pnnGhpnud:

Unwownpuliph ophliwy

5.1. Uywhnjuwqpuywl wuwnuwyp juqdjws t juiph wwyw-
hnjwqgpnipjwl 3 dhwldwl wwjiwlGwgptphg: Uwwhnjuqpulywb
gnuiwnp ywhijwo E dwhywl ywwmdwnhg: Gpt twhp mbnh L nultghy
ndpwfun wwuwhwphg, wyw hwnmgynmd t 400,000, huy wyg
yuwwdwnllphg dwhywl nhiypnd 100,000$: {wjwmbh & Gul, np w-
wwhnjugpyuo jmpupwlsjnip wléh Yyulph mbngnipniGla wGywpu
E Wnuwlbtphg, b dGY wwpjuw plpwgpmi ndpwjun wwwmwhwnhg
Jwhywl hwjwlwlwlnpmiGp 0.1 t, huly w) yuwwmdwnlitphg dwh-
Jul hujwlwlwlnipjmbp 0.3: Gnlb] gnudwpju] hwnnigdwG pwy-
funiinp:

Lnionud

Ulpnn 1

{wpqupylGtphG wnwyt] wywpq wmbup hwnnppbnt Guuwunwynyg
npubu gnuiwph hwynp nhunwpytlp 100,0008:

‘Lowlwlblp Xy, X5, X3-ny yuwpiwlwgptph wihwnwywl hw-
nngnuiGpp: Uyn wuwunmwhwliwl dtonpynGGipni wiywh GG pun
hwiwfudpnipjwl, b gpulghg jnipuwpwlsympl niGh hbunlyjw; pwp-
funuip’
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X, o] 174
p(n) | 0.6 | 03] 0.1

X1 + X, wuwuwhwlwl dkonipjul hwiwp ynmGGGwlp htnbyug
pwpfunuip

X, + X;
@#j)
p(m) | 036036 [0.09]0.1270.06 | 0.1

0 1 2 4 5 8

OphGwy 0.12 hwjwGwlwlnpjnilp vnwgyty] £ wjG npudw-
pwlnipjwdp, np X; + X, dtompjnilp upnn b pGnnilby 4 wpdbiplG wyG
ntiypnd, tpp X; = 4L X, =0, juwu tpp X; = 0L X, = 4: Uy Yupy
wuwo

PX,+X,=4)=PX,=4)-PX, =0)+PX,=0)-
P(X,=4)=2-0.1-0.6=0.12:

bul opphGwly 8 wpdtpp X; + X, dtompymGp YplnniGh wyl b
vhwyl wjyG nhwpnud, Gpp Gpynt yuwunwhwlywl dtompmGGupl £y
nGnm GG 4 wpdbpp, wjuplpl

PX;+X,=8)=PX;=4)-P(X;,=4)=0.1-0.1=0.01:
CwpniGwltiny hwydunpyltpp b wybjugltng 3-py Wwwwhw-

Jwl dtonmpynlpn gnmiwpjw] hwwnnmgdwl S = X; + X, + X3-h hw-
dwn Junwgyh htnbyw) pw)funwip’

S 0 1 2 3 4 5 6 8 9 12

p(n) | 0.216 | 0.324 | 0.162 | 0.027 | 0.108 | 0.108 | 0.027 | 0.018 | 0.009 | 0.001

Ubkpnn I1

{wjymbh b, np Wwuwhwlwl dtompjul oGnpn $niGlyghwih b
pupfudwl pnilGyghwyh dhol gnymipjniG niGh dhwupdbp Juw. oGnpn
bnlGlhghwyny dhwpdtipnptiG npnpynid L pupudwb dmGyghwG b

30




hwjwnwyn: Guwhuny 5.1 puGphpp Ywptih £ ot Gub oGnpn
$InGyghwjh oqlinipjunip:

Snipwpwlsymp X; wquwumwhwlwl uvtompymG nGh dhubnyG
olnpn $mGYghwG

01(2) = 0,(2) = 93(z2) =Ez*¥1=06-2°+03-2z + 0.1 z*
=0.1(6 + 3z + z*):

Gnudwpyw) hwnnigiwG oGnpg pnGyghw YihGp

EzS = EzXitXetXs = ¢ (2) - ,(2) - 93(2) = 0.13(6 + 3z + z*)® =
=0.13(216 + 324z + 162z% + 2723 + 108z* + 108z° + 272° + 1828
+92°% + z12):

z-h jnmpuwpuwlsynip wumhdwlh nhiwg Julqlwd qnpowyhgn
gnyyg L wwihu hwiwywunwuhuwl wpdbph hwjwlwlwlnpjnilnp,
npp hwdpGyGmy £ wnwohb tnuwind unwgywo wnjniuwlh htwn:

5.2. Uyuwhnyugpuywl pGybpnipnind 7000 wGéd Ylphy t
wlph wywhnjugpnipjul ywjdwlwaghp' vk muph mbnnnipjundip
U htimbjwy ywjdwGGtpny.

o wuywhnjuqpuyuwl pGYytpnipjniGp ydwpnd £ 100,0008, tpt
nyjw; nwpjuw plpugpnid wlép dwhwlw ndpwfun ywwwhwph
wnryniGpniy,

o wwwhnjuwgopuywl pGytpnpymGp ydwpmd t 20,0008, tpt
unyju muwpjuw ppugpnid whdp dwhwlw wj) (pGwlwb) yundwn-
(tpny,

e  wywwhnjuwqpulwl pGytpmpymGn nghGsy sh ydwpmd, tph
wlap nno WGw vhGsu mwpyuw Ytnpg:

{wjwmih t, np wyn wldwlg ndpwhun Wuwwmwhwnphg dwhwGuwint
hwyjwlwlwlmpnilpn sSnnwijw dbly mwpjuw plpwgpnmd hwyjwuwn £
0.0008, huy wy (pGwywl) yuundwnlbpny dwhwiwnt hwjuwiuyuw-
Gnipjnilp Yuwpudwo E mwphphg: Fpw hwdwp wywhnjunhpGtphG
pwdwll) GG 2 wmwphpwjhG fudph. wnwohl fudpnud Ghpunjwo LG
N; = 2000 wGahGp, npnlghg jnipwpwlyjniph’ wyp (pGuwub) vyywwn-
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dwnltnphg dwhywl hwjwGwlwbnpyniGp 0.006 t, hul bpYypnpn
fudpnd Gepwnywo GG N, = 5000 wGdphGp® 0.002 dwhywl hwjwlw-
Juwlnpjudp: Gwnih] wywhnjugpuydwph swihp, npp pwywpwp
YihGh, np 95% hwjwlwlywlinpjulip wywhnjugpuywb pGYbpne-
pmlp  suGwGywlw: Ggpp  ondp  phpt]  wGhwnwyw6
ptinGiywonipjwG tiptp dtipnnltiph hwdwn:
Lniomud
Npubu gnudwph dhwynp ghunwpytlp 20,0008: Uyn nhuypnd
wnwohl fudpnid whwwmwwl YGwuh dhonpjnibp YplnnGh 0, 1 b 5
wndtipGbpp” hwiwywwnwuuwlGupwp 0.9932, 0.006 L 0.0008 hwyw-
GuwlwlnpymGGtpny: Gpypnpy fudpnd wihwwnwlwl YGuwup dhont-
pynilp GniyyGubu YpGnniGh GnyG 0, 1 L 5 wpdtpGhpp, vwyuw)G hw-
dwywunwufuwlwpup 0.9972, 0.002 L 0.0008 hwywGwwlnipniG-
Gtpny:
Uyjuyhuny wihwnwlwl yGwulbph dhohl wpdtipn b nhuwtin-
uhw( jnipuwpwlyynip judph hwdiwnp unwgyp'
m; =1-0.006 +5-0.0008 = 0.01,
o =1%2-0.006 + 5%-0.0008 — m? = 0.0259,
m, =1-0.004 +5-0.0008 = 0.006,
07 =1%2-0.004 + 5% -0.0008 — m% ~ 0.022:
Gnudwpyw) yGwuh dtonpjwl dhohGp U nphuytipuhw b Yhwpytlp
htinbjwy Yhpy.
ES=N;-my+ N, -m, =2000-0.01+ 5000-0.006 = 50,
VarS = Ny - 62 + N, - 62 ~ 2000 - 0.0259 + 5000 - 0.022 = 161.62:
95% suGwllyugiwl hwjwlwwlnipniG wywhnybnt hwdwp
pGytpmpjul yuyhwmwp wtwp b 1hGh v = ES + I, npntin [ hwyb-
wydwpn npn2ynid E htnbyuy pwGuaélny (nt'u Ludbpuo 2)
l = X950, - VVarS = 1.645-v161.62 = 20.91:
Ujdd nphnwnytilp wihwnwlwb pinGjuompjub dtpnnGhpp:
1. 9nmun wywhnjuwqpuydwnph hwiwdwulnipjul nhupnid wi-
hwwnwlwl hwytjwydwpp l; = k- E¢;, npntn Y. [; =1, Y E§; = ES,
huy k = x, @, npG wju nhypmd hwipGylnd £ hwpwptpuw

hwytjwydwph' 6; = El_:ﬂ htin: Uyjuyhuny
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0 —k—i—m—413~418°/'
T
{wpyph wnGhny npuiwghG dhwynpp wwywhnjuwqpudwnph
swihlG wonwohb fudph wlnuwuiGbph hwiwnp Yyuwqdh
p1 =my(1+ k) *20,000 ~ 2848,
hul Gpypnpn fudph wlnguiltph hwdwp
p, = my(1 + k) * 20,000 ~ 170%:

Gpt wywhnjuwqpuwl pGybtpnipnilp npnph quGaty dhubnyyG
wwwhnjuqpuydwnpp pnpnp wyywhnyunhpGtphg, www wtwup £ hwp-
Jupyp yunwpty pun YhnGtph

Ny N,
p=yphityp= 202,6$:

2. “huwtpuhwih hwiwdwulnipjudp wpnhtjne ghypnd hw-
duwdwulnmpjwl gnpowyhgnp’ k-G, npnpymd

l
k=——=12.94%:
VarS %

Gy wju nhiypnd wnweohl U Gpypnpng fjudph wlnuiltph hwdwn
wlhwnwlwl hwytuydwplbpn hwiwwywunwufuwlwpwn Juqind
.

l; = k-0? =~ 0.00335,
l, =k-0? ~ 0.00285:
buy npuwiwjhG dhwynpp Yhpwnting wywhnjugpuydwnltpp
hwiwywunwufuw wpwp Junwgybl.
p1 = (m; + 1) * 20,000 = 267%,
p, = (my + 1) * 20,000 = 177$:
UhllnyG wywhnjugqpuydwph quGaiwl yqupuwqujnid’
p = 202.7:

{wpwptpuywl hwybuydwnlbnl t, pun fudpbph, Yyuwqika

hwiwwwunwuhiwlwpunp
0, = l—l ~ 33.5%,0, = l—z ~ 47.5%:
my my

3. Bpt huybjuydwpp wmpnhtilp dhohG pwnwlyniuuhl ptndw
hwiwdwulnpjwdp, wyw hwdwdwulnpjuwl gnpowlhgn unwgyh'
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=—=0.0197:
N10'1 + Nzo'z

Nuuunh wihwnwlywb hwytjwysdwnpltipp, pun fudptinh, YhGka.
ly =k -0, =0.00317,
l,=k-o,=0.00292:

buy hwpwptpuwyuwl hwybjwydwpbtpp

6, = l—1 ~ 31.7%,0, = l—z ~ 48.7%
my m;
Gy h ytpgn wywhnjwgpuydwnpltipp yyuquta
p, = (my + ;) * 20,000 ~ 2638,
p, = (my + 1) * 20,000 = 178$,
p = 202.3:

Obdw 6: Ywpquypdwlh Ynpniunm dh pwbh yumdwnny

Uju ptiduyh ppowlwlyGbpnd dbyGwpwlynid E Jupquyhdulp
qunuthwpn wwnpptn hpuyhdwlipnud: Uehwwnh hwdwp nuuntiGu-
uhpymd 6 htwnbjw] Gpymt yuwunwhwlwl deompniGatpp” dhGsl
njju] Jupquypdwlih YnpnuunG pGhwo  dwudwlGuluhunywon
(T) U wyn YupqwyhSwlyh Ynpunh wwwdwnlbpp (J): Nwnud-
Gwuppymd GG hGywbu wju Gpym ywwunwhwlwl dhompmGatph
hwdwwmtin hwywlwywlwihG fpnmpjub Pmiyghwl b Wuyiwlw-
Jwl pwpunuiGbipnn, wjlwtu b npuwlghg jmipupwlyniph pwpfundb
wnw(dhl (Gupghluy pwfunwiGhpp): Ywpnigynid GG mwppbp yww-
dunltpny Jupquyhdwyh Ynpunh wnymuwlylhpp, b wpnmwoynid k
pbidwjh upunpwagniyG wpniGpGhphg vtYnp. jupquyhdwlyh Ynpump
pphwlmp hGumbGuhympiniGp muppbp ywwmdwnltnpng Jupquyh-
duyh Ynpunh hGubkGuhynipniGGtph hwGpugndwnG £ (nbu [1], [3]):

Uwinighs hupghp
I. PGyut®u L wpnwhwjmymd wmwppbp yuwndwnlbpny Yup-

quyhGwyh Ynpuwnh dwpghGu) pwppunuip f;() hudwwntn
funnipju dmGyghwyh’ fr,;(¢,j) dhongny:
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2. hGyuyt®u & wpnmwhwynynd dhGsk jupquyhdwyh YnpniunG
pGywo dutiwlwyh YwpghGw) funmmpyuG $mGyghwb fr(t)
hwiwwntn funmpjul niGyghwjh fr,;(t, j) thengny:

3. Npn°Gp GG wjG hpdGuywl dGompymGGtpp, npnlGg dhongny
Jwnpbih B wpuonwhwynbp hwdwnbn  punnmpyjwl, wwj-
dwliwywb pwfuiwb b dwpghGwy pwpfudwb pnlGyghwbhupn:

4, Npn°Gp GG dh pwlh wwwdweny Jupquyhdwlh Ynpuwnp
wnjniuwyh mwpptipp, b pGswt®u 66 npubp hw)qupyymd:

Unwownpuliph ophliwl
6.1. Gpynt  wwwmdwnny Yuwpquyhdwyh Ynpunh Innbnd
nnjuwd bl jupquyhdwih Ynpunh hGntGuhynipyniGGtpp

.ug((l)(t) = 100——(x+t)'ux )( t) = m,t <100 —x
{wyt1 htnlywy dkompniGatpp 50 mwpbwl wiGdh hwdiwp.
w) o, (), ) fr(t), ) ;). ) frGIT),
t) E(T):

Lnionud

‘Lwhu hwpytlp yupquyhdwyh Ynpumh pGnhwlnip pGunbkGupym-
pjnilp’

1o () = sy () + o () =
wyn nhiypnid gnjunbdw b i})mﬁl{ghwﬁ 11]_‘[1[111

50 — t\°
tp5°_eXp fSO—SdS :< 50 >:

MGLGwny yYbtpp ﬁzt{wb dnGyghwbtpp’ Yuwpnn GGp hwpybg
wwhwG9ynn dkonipniGGtpp:
w) Lwlh np

)
— S

fr,&)) = tpa(cr):up(c])(t)a
wyw hwiwmtin fjumnnipjul $nillighwjh hwdwnp Jumwgyp
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(50-0*
| 125,000 7 ~
fr, (&) =
(50 —1)*
62,500 /=2
p) UhGsu Jupquyhdwyh YnpniunG pGluwo dwdwlwlh dwp-
ghGw) fjunnipjul $niGlyghwG

3
_ (™ _ N .
fr) = tpﬁf)ﬂx ) = E fr (&) = 125,000 (50 — t)?:
j

q) Swppbp yuwwdwnlbpny Jupquyhdwyh Ynpunp dwupghlug
pufuntdp
) =« = [y fr(s.))ds,
nnG wju niyypnd bu plnnilnid £ Gpynt wpdtip®

L
3=

£G) =

C-2
3/~

1) Muwjdwliuywl pwyfudwl hwiwp mbnh nGh

6)
, py (t)
fr 0D = ey

Stnunptiny hwiwwywunwuuwl dtompyniGGtpp” junwgyh'
fr@T) =

(50— )2

6
fHirIT) = GO D7

t) E(T) hwpytnt hwdwp pujulub £t oquyty p) Ytnhg L dwp.
uywuiwl vwhdwlniihg

(o8]

E(T) = f tfr()dt = 12.5:
0
6.2. SYjwy 2 yuudwnny twhwgnipjul wihwnmwlwl wnyni-

uwlGhpp uwhiwGjwd 66 hnbyuy Yapy L = a — x U 1P = ce™:
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buqit] wpunwhwjmnipynGGtp l,(CT),dS) u dg(cz) -h  hwdwp bpym
wwwndwnny Ywhwgnmpjul wnjnuuuwlynd’ Gapunnpbny, np ZST) =a:

Lnromd
{wjwmbh E, np , nputin k-G hwu-
nwwnnm t, huy m-p" YwhywaG uluundumﬁhph pwlwyp: Uyu fulinpnid
m = 2, niunp’
1 = k- /D P = k(@ —x) - ce™:
Uwluw)G dtq hwjwGh t, np l(() ) = a, npntnhg Juunwgyh k = %

l(T) k- l’(l) l’(z) l),c(m)

wndtipp, b wpnynilGpnid l)(CT) -h hwdwp YnGGuGp
l(T) =e*(a—x):

dP 1 d®p quihm hwiwp Yoquytbp dP = fo l)(c?t )(:J)rtdt

pwlwdlhg, npuntin uiit—ﬁ i-np wwwndwnhg dwhywl hGuntGuhyni-

D Lo
pjmGG E, npp Junbih t hwpyty ux = (,(l‘;t) pwlwdlhg: UpnyniG-

x+t
pnid unwgynid .
1
@ _
vt =g "5 —¢

@ _ 4.
Hyie =10

bhuy d,(tl) u d,(cz)-h hwdwn hwyJwpyGhpp pipguo GG unnpl.
1

1
@ _ —(X+) (). — ,—X(1 _ p—1
d,’ = t)-—dt = 1 )
W [et0@-x—0) — —dr=e1-e
0
1

d,(cz) = f e~ (q — x — t)dt:
0
Guuwnpting thnthnfuwlwbh thnjuwpphlnd b dwubpny phGunb-
gnnud’ JuunwGwGp®

x+1
d® = f e“(a—wdu=(>a—-1(e™*—e D) + (x + 1)e"*+D

X

—xe*=e*((a—1-x)(1—eH+e )
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Unnny 2: YhGuwpnpwlltph b Yjulph wuyuhnjuwqpnipymbG
wlmniwpuljub huwphy

Okdw 7: Yywliph wuypwhnjwuwqpnipjub dnnbyikp

Etiwjgh powlwybtipnid Giuwpwagpynud b6 Yywlph wuywhnyug-
pnipjwl hGywtiu whplnhwn, wyluybu £ nhupbn mtuwyGtph dwpb-
Jwwuhyuwlwb dnnbGbpp: Uhpyujugymd GG ptpdwo wpdtph nhu-
whtpuhwyh ptinptidp b dhowqqujhl wijnmmwpwlywb GQubwyndbtph
hwiwlywnpgh wjl Yuntipp, npnlp noipu GG dGwgty dnnny 1-h 2-pn pbi-
duyh pGGwpyiwl dwdiwlwly: Uwhywl yuwhhl ydwpyng b dwhywG
nwnpyuw Ytipgnud yawpynn htimbywy dnnbiGiph hwdwn' Yyulph giwh,
[nuytgnipjul, dwiltwwjhl, fuwnp, htimwdqyuo, htnmwdquo
duiytimwyhl, hGyybu Gwb gdwh wdnn, wéng dwiynwjhl, gdwh
wonn-htmwaqyuo, wdnn-htnwdquo duiyinwhb b GJugnn hw-
wunignudltipny wywhnyuwgpnipyniGltpnid nnipu GG ptipynmd pwGuw-
autin vyuwuynn hwnmgndGtinh wjunwpwlwb pipjwoe wpdbplbph
U nhuybtipuhwGtiph hwdwnp: LhpeGwlwl pwlwdubipp Ghpluwjwgynid
Ll tptip hhiGwlwG wmtuptipny’ Jyuwlph nbngnipjul pwpfudwb plni-
pwqnhsGtiph, dwhwgnpjul wnnuwyh wnwppbiph b YndntnwghnG
PnlGyghwbtinh dhongny: Upnwoynd E Juy Yywlph wlpnhwwm U
nhuptn hwdwywwunwuhiwl wmtuwlyibiph wynnmwpwyui phpjwo
wndbtpGtinh dhol dwhtiph hwjwuwpwswih pwtudwb Gapunpnipjwu b
ntiypnud: Uywhnjuwqpnipjul dhulnyl dngbind Ghiplujugynd b
Ut Gwpwiynd GG wjnmmuwpwlw6 pipduo wpdtpGtph hwdwp win-
punupd pwGwaltp (mbu [1], [2], [3]):

Uwmniqghs huipghip

1. ‘blupwgpt] Yyulph wywhnjugpmipjul dwpbdiwmhluywd
dnnbin:

2. UtjGwpwlt] ynintnwughnG $niGyghwbtnh dhghjuywb h-
dwuwmn:

3. 0°n6 & wyumnwpwyul ynunwyiwl b phGwGuuyub Yni-
nwliwl mwppipmpjniln:

4. b°Gs L wyunmniwpwlyuwb pipdwd wpdbpp Yywlph wywhnyuwg-
nnipjniinud:
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Unwownpuliph oppliwlyGhp
7.1. Gyulph wwwhnjugpmpjul wwjiwlwqpny Gwfuwwntu-
Jwo £ 100 shwynp hwwnnignid dwhywl wwhhG, tpt dwhp wntinh m-
Gt0w wnwohl 10 mwphGtph pGpugpnd b 50 dhwynp hwwnnigmu
Jwhyw( wwhh, tpti dwhp mbnh nGkGw 10 nwph htnn: {wjnGh t,
nn
_(0.01,t <10
Bt = {0.0Z,t > 10°
blswytu Gul
5. = {0.0S,t <10
¢ 0.04,t > 10°
Qhgnip Z-p wyl yquunwhwluwl dkonipmGa t, npp Gyupugpnid
E hwwnmgiwl Ghpiuw wpdbtpp: <wpyt] wyn dkompjul wyummu-
pwywi Gipyuw wpdtpp U yuphwghwaG:
Lniomd
‘Llwpugpwo wywhnjugqpujul wwjiwlwghpp Yupbih L
wuwjiwlwwuwlnpbl pwdwlh] tpynt dwuh. Z;-ny GpuwlwltGp dwh-
Jwl yuwhhG 1 dhwynp hwwnnigdudip 10 mwpduw dudytivmughl wyw-
hnjwqpnipjul Gipyw wnpdtipp, huy Z,-ny dwhywl wuwhhG 1 shwynp
hwwnnigiwdp 10 mwupny htnwdédquo giwh wwwhnjugpmipjub
Gtpyuw wpdtpp: Uju GoulwymibGtpny Junwgyh, np
Z =100Z; +50Z,:
Ujunmwpuyuwl GulwyndbGtiph hwdwdw)l Z-h U Z,-h wy-
nnwpwluwb Gipu wpdtpltppn hwiwywunmwupwliwpwp Yerw-

—1
Guytilp 4,75 U

10/4x:

10
—1
E(Z,) = Ay1o] =f f(Ovtdt,
0

npuntin f,(¢) = Dy " e » vyl pwGh np pu hGnkGuhynipynip
G2Jwd showwypnid hwuwmuwnnmG b, wuyyw YmGaGuip £, (t) = e HE - p:
bull Pplwluwyul dwptivwwhlyujhg hwjnGh t, np ghulynGuw-
ynpiwl gnpowlihgn Juntbh £ wpmwhwjnb; mninuwnpnyph hGunbi-
upympjudp’ vt = e~ Wju wikp mtnunptiny junwiwbp.
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—1 0.01 1—e06

E(Z) =A.— = 1— —10-(0.01+0.05)) — .
() = Aca0 = 51 1 005 (L 7€ )=
Luwjitph (dwlwwhy hwonpnuywlnipjuip Jwpnn Gp unw-

Guwy Gul Zx—u‘ hwipyh wnGhiny, np ¢ > 10 nhiypnd

10]
tPx = 10P, " t-10Px+10 = e~ 00110 t-10Px+10>
hull vt = U10+(t—10) — e—0.0S'lO . e—(t—lO)St, hﬁzulhu Gl llulmulph[nq

thnthnfuwuGh thnfuwphGnd® v = ¢ — 10" junwgyh.

E(Zy) = 10|Zx = f fe(®vtdt = e—O-Gf 0.02 - yPrr1o - € " du
10 )
0.02 e‘°-6.

-0.6 —
0.02 + 0.04 3

=e
Ujuyhuny
1-— —-0.6 —-0.6 50
E(Z) = 100E(Z,) + 50E(Z,) = 100 - z +50-2 — =
Jdwphwghwl' Var(Z) = E(Z%) - (E(Z))2 =24 — A hwyytym

hwdwnp wlhpwdtpn t Yhpwntp jwphwghwjh ptnptdp, npubn
wuynud E, np dshwynp hwwnnignid ydwptynt nhiypnid Ghplw wpdtph

tpypnpn Yupgh dnukGup’ ‘A hwyytiimt hwiwp wbtwp L wnwohlb
Jupgh dnitGunnd wmnynuwunpniph hGutGuhympjul § dtonipjwul
hnfuwnptG Ytpglhp ngpu YpyGuyuwnhyn' 26: Uw viwihu £ htnbjuyg
wniynilipp’

-1.1
B(ZD =4 a5 = 51 i 21 g5 (1~ e e = 1 T
-11
BEZE) = o = e71000112007) 0.02 3.(;2. 0.04 : 5
nputinhg’
E(Z2) = E(100Z; + 50Z,)% = 1002E(Z2) + 502(Z3)
_10000 . (500 } 10,000) .
11 11 i

‘Lwwntlp, np E(Z,Z;) = 0, pwlh np wyn tpynt wwmwhwwa
utomp niGGtpn s66 Yupnn thwdwidw lwly hwinbu quy:
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UWyuwhuny Var(Z) = E(Z?) — (E(Z))2 = 7729 — (53—0)2 ~ 495.1:

Dhwnnpnipyne
‘Llwl nhyptipnud

Var(Z) = Var(100Z, + 50Z,) # 1002Var(Z,) + 502Var(Z,),

pwGh np Z; U Z, wwunwhwlwl dompynGliapd wGywiu sta6:
Ltnwdquwd wujiwlwgpny hwunnmgnd Yupdh wyl b Shwyl wyl
ntiypmd, Gpp dwdlybnwihl wywjiwlwgpny hwwnnigmd sh wpyby,
wjuhlplG unwgynud k, np Z, dkonipjnilip ywjiwlwlwl dkonipynG L
b whiywo k. Z;-hg:

7.2. Lwywnbtp wpununpnn  plGybpnipiniipn julgpmd £ Qbq
wywhnywuqpb] hp wpnwnpupn hywGwne nhyptphg: Spwo t, np
[wwwnbph thywlGwnt g hGunbkGuhynipyniGp hwunmwwmniG £ b hwjuwuwp
t 0.04-h, Gnp juwutph qhGp $200 E, jwwwbnh qhGp 4 wwphGhph
ppwgpnid  hwjwuwpwswith GJugnmd £ U hwjwuupymd  0-h:
UwwhnjwqgpnipyniGp whwp b jwwyumtiph thywGwnt wywhhG ytpw-
nundGh dWGwgnppqwyhG ghGp: GGpwnpbtny, np wnynuwnpnyph hG-
wmtluhynipjmbp hwunmwunmG £ 6=0.06, qunlt] jwwumbph wwwhn-
Jugnnipjwl wymniwpwub Ghipyw wpdbpn:

Lniomd

UlGhpwdtpun Lt oquyty wlplnhwwmnptl GJugnn hwwnnigdwdp
wywhnjuwqpnipjul wyumniwpwliuwl Gipuw  wpdbtph’ (m)iﬂ -h
npnwih duwthnfujwd wmwppbpwlyhg, b pwlh np wyny dbuhnfuni-
pjwl hwdwp sh Yhpwnynd hwnmly Guwlwynd, wwyw wjl
wyuwpquubu YGywbiuytlp APV (actuarial present value).

APV = [}(200 — 506)f, (t)vidt,

npntin Yupnn GGp qpby, np f(£) = Py~ Ure, vwuyl pwlh np p
hGuntGuhympymGG wju nhypnd hwunwnnl b, wyw YnGaGuip
fe(®) = e™#t - u: huly $hGwluwyul Jwptidwwnhwjhg hwynbh &, np
nhuynGuuwynpiwl gnpoéwlhgn Juwnpbih L wpnwhwjnb] wmnynuw-
npnyph  hGuntGuhynipjudp” v = e %
Juunwlwp.

Uju witlp wmbnunpbny
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4
APV = f(zoo — 50t)e Mt - - e Stdt
0

4 4
=200 -yf e~ u+dtge — so-uf te~(+dtge.

0 0
Unwohl hGwnbgnwih hwiwp junwlGwip.
200 -
E(1- e *w+9) x 26.37:
u+aé
buy tpypnpn hGubgpuih hwpdupyp YYuwwmwptlp dwubpng
hGuntigniwl vhongny, b Junwgyp
50-u

m(4e-4'(ﬂ+5) e (e=# W+ — 1)) ~ —12.34:

Gy wjuytiv, wwhwboynn dhonpmGa " APV = 14.03:

7.3. Npnpt] 40 wmwptywlG wiéhG yuiwnjwo gdwh wuwhn-
Jugnnipjuwl wimnmuwpwlwl Ghipu wpdbpp, tpt 1,000,000 hwwnnt-
gnuip wpymd £ dwhjwl wwpduw ytpemd, U hwjwmGh E, np

L = 1,000 (1 - =) ui = 13%:
Lnionud
S8dwh wuywhnjuqpnipjul wiumuwpwywbl Ghpuw  wpdbtpp

hwyJwpyynd t

(o]
_ ) o k+1.
Ax—kax Qe+ "V
k=0

pwlwadlny, vwlw)l Jwhwgmpjul mpjwo optiiphg wwnpq tplmd t,
nn qnjmpjnil nilh vwhdwlwjhl mwphp' w = 110: ,p, dmbGlghw
0-h £ hwjwuwpynd £ = w — x YEwmnwd, niunh gdwh wwywhnjwqnpni-
pjul wiunmnmuwpwlwb Ghplw wpdtiph pwlwdumd gnidwpp whwp k
uvwhiwlwthwyt) k = w — x — 1 wpdtipny: Ujuyhuny fuGnph pow-
GuyGbpnd wGhpwdt)wm t hw)yty

1,000,000 Ao = 1,000,000 352 1P * G,y - V<

NRUBN gPso " yyy = PP = 2 Stnuinnbp U Yhpuwnblp

tpypuyuthwluwl ypngpiuhwjh gmuiwph pwGualp.
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69
100,000 Z k+1 . 1,000,000 v - (1 — v70)
B v =

60 e 60-(1—-v)

~ 128,180:

Qhwnngnpynil: Swn phiybpnid muwlnnGbpp hwyh g6 wnlnd
dwhwgnpjul optiiphg pfunn uvwhdwlGuwthwyndp b hw)ymd GG
wigtpg  GJwqnn  bpypugwthwwl - wpngpivhwih - gqnudwpp
1,000,000v

60(1-)
owmn dho sk, uwlwyl wyu wpynilpp, pun tnpjwl, ufuwg B OppwG
thnpp b uwhdwGuwjhG mwnphpp, wiGpwl wykh Wko £ nuninid ¢hpn b
ufuw] wpnynilpGtph mwpptpnipjnln:

7.4. 8njg wmwy, np hwunwwnnl Jwhugnmpjul hGubGuhyni-
pjul LGpunpnipjwl niypnid wmtinh niGh’

—= [+ Quyk
szzvk+l'kpx'ﬂx+k'6+x :
%=0 Hx+rk

1,000,000 4,4 =

~ 128,205: SYjwy fulnph powlwylitpnmy wmwppbpnmpmniln

Lnionud

‘Lwhu b wnwg hhptlp, np hwumwwmni (@ Ywhwugnpjwl nhypmud
Hyik = — Py, hul f(n+t) = —s(n)pf, 0<t<1,n€N:

Uwhyw6 wuwhhG Jdwpynn Yyuwlph giwh wwwhnjugpnipjw
wlnnuwpwluwb Gipyuw wpdtpp YihGh

_ flx+10)
Ax =:J‘Utf;(t)dt:=Af Ut——gzgj—-dt
0 0
o' 1
_ Z f Sl SO+ KD nprsk du
s(x)
=00
hGwmbtgpuwihg gnipu hwGtnyg dhwjl k-hg Yujpudwo dtonipjnil-
s _ S(x+k)

Gtpn U Yhpwnbing v = e™°, ;p, = o L hwunwwunnl JYwhwgnt-

pjwl hGuwbGuhympyulG nhypmd  p,y, = e "+ puGwdlbpp
UniGtGuip.
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oo

1
A_x = Z 1'7kkpxllx+k fe_(aﬂl“k)udu
0

k=0
)

z . (1 - e—(6+ux+k)>
L kUxHx+k 6+#x+k

© 1— Dx+k

k 1+
U™ kPxMx+k
k=0 6 + Mx-f'k

I
]

[oo]

i+q
_ k+1 x+k
= v Dtk :
kZ—o XS+ Uk

Dhwnngnipynmil: FwuwfununipymGitph pGpugpmy nmipu k. ptip-
ymu Juwy YJyuwlph wywhnjuwqpnpjul wiplnphwnm b ghulypbn nk-
uwlGtnh wynmniwpwwl Giplw wpdtplGtnh thol swhbph hwjwuw-
nwswth pwfudwl nhypmy, vwyuw)i nuwlnnGbpt niGwy G6 Mot
wju fulinhpp, pwGh np dnpnyy I-nd GpuGp dwlpwdwul nunidGuup-
i 66 Gl hwunmwwnni G Ywhwgnipjwl hGunbGuhynipjwb dtpnnn:

Orhdw 8: Muwyvwlwlwb (Yywbiph) wanthnbwnbkp

UGhpwdtpwum & hunmwynpbb Gipyujwglb ny yujdwiwlwb jud,
wjl Yupy wuwo, phlwGuwlwl wlnthnbtnliph b yuwypiwlGuwlywb
Juwy, hGswtiu wnwyt] hwywnGh E, juwlph winthnbwnbbph wwppbpni-
pjnilp b ptipt npn) ophGwlGlp: Wyu ptdwjh GuuwwmwlG £ ntuwlnnhG
owlnpwglty Yywlph winthntmbGiph mbuwyGhph htin, npnlp Jupb-
1h £ gujdwlwlwlnpbl pudwlb tpynt fudph’ hwuomwmm G yawnpny
U thnthnfuynn ydwpny wlnihntnmbGhp: Upnwoynd GG pwlGwalbp
ulqplwduiytin winihntinGtiph hbnbyw; mbuwyGhiph® gdwh, dwd-
Ytnnwyhl, httmwdqyuwo, mwpjw plpwgpnid th pwlh wliqud Yyawp-
ynn, wGpGnphwnnpbG hwygupyynn b §pqpunn yewnpny wlnithnbw-
Giph wiunmuwpwlwb ptipduwo wpdtpGtph U nhuybtpuhwGbph hw-
dwpn: Onthnfuynn Yowpny wlnmhwmtinmltphg pGGupyymyd GG wdnn
Jdwnny guwh, dwiytinwjhl, htnwadquo b wlplnhwwnm wnbuwy-
Gtnp, hGywtu Gub Gugnn ydwnpny uyqpluduiytim winthuntnGbpn:
Pulwdltph wpnwoniG ppuyjuliugymy b gnidwpjwy ydwph b pG-
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pwghy Yydwph nuGuybtpny: dbpeGuwwb pwlGwalbpp Ghpluwjwg-
ynd GG snpu hpiGwlwl wmbuptpny Ywlph wwywhnjwugpnipjwb
wliunnuwpwlwl ptpjuwo wpdtiph, Yywlph wnbngnipjul pwpfudwb
plnipwgphsGtiph, dwhwgmpjuwl wnmnuwyh wwppbph, Yndnmnw-
ghnG $niGyghwGtph dhongny (wmbu [1], [2], [3]): dbpolGwdwiytn
wlnthmbtwnbtph pGGwpynuip Guuwumwuwhwpdwp b hpwlwlGuglty
gnpoGwlwl wwpwudniGplGtph pGpwgpnid (nbtu [4]): GkGuwpn-
owlwyhG hhdGunpwih ophGuyny gnipu GG phpynd wyunniwpuywb
nhunGunh b wjunmuwpwlwb ynnwlydwl puGuwattpp, b mwpymy k
hwitidvwnmwjwl’ hwiwwywwnwufuwbnptG ShGwlGuujul nghuynGunw-
UnpiwG gnpowygh b hGwbuwub Yninmwldwl htn (ntu [2], [5]):

Uwmnighs huipghip

1. 0°n6 £ wyunnwpuwlwl pipdud wpdbpp Yywlph wlnithnbumh
hwdwn:

2. Npn°Gp GG Yywlph wimhwmbwmGiph wimnwpuwwl phipjuo
wndtph hwyyupydwb dtpnnGupnp:

3. PJwpyt] wlnthmbtwnGaph mbuwyGtpG pun ydwpdwb wwhh:

4. PJwpyt] wlnthmbnGbph mbuwyGbpl pun Jdwpiwb wgup-
ptpwyuinipjul:

5. PJwupyt] wlnthnbtnGiph mbuwyGtpG pun Jdwnpynn gniiw-
nh dtonipjwG:

Unwownpuliph opphliwy

8.1. Npnyt1 30 mwpbjwl wGdhG Juiwndwd wwptljw 5000$
Jdwpdwdp ulyqplwdwiftm juwlph wlnithmbtnh wijnnwpwlwb
Gtpyw wpdbpp, tpk p, = 0.96 pninp x-tiph hwdwn, huy i = 9%:

Lnwonud

hGswtiu hwjnGh t, ujgpluduiytin gdwh winthntnh winniw-
pwiwi Ghpyw wpdbtpp Juntih £ npnpbp htnbjwy pwlGuwduny

. _ . t.

t=0
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luGnpp wyjwyGtipnhg htimbnid L, np2 Px = pL: Stnunpbny uw L

Yhpwntiny wiytpe Guqnn tpypuwswihwlyul ypngpbuhwjh gnidw-
ph pwGwaln guGugwo mwphph hwdwp unwgyh.

- 1
Q39 = Z(p )t =——— ~ 8.3846:
30 & X 1 _ px v

{wpyph wnGhny wnwptiwl Jdwph dhompymbp wwhwloynn
gnuiwpn YhGh' 500045, = 41,923:

8.2. UG4dp, npp 45 wwptluwl E, Ghpuw wwhhG wmwpbljul
Juwunwlynd bt 25,0008: Upjuwunwyupdtph hGnbipuwghwjh wnn-
JniGpnid jnipupwlyynip mwph Gpu GyudnunG wand t 7%-ny, huy 65
nwpbjwlp jpulwihu (w JuGgGh YaGuwpngwih mwptywl unw-
Guny hp Yytipohl wyfuwwmwywpdh 50%-h sunhny YaGuwpnywly: UtG-
uwpnwlGtpp Jdwpynud GG jnipuwpwlyynip wdudw ytipohl: Ghpw-
nnymd k, np wGap yuwph bu 20 mwph b uGgGh YaGuwpnpwyh: {w-
2yt Gpw YhGuwpn)wih winnuwpuwwl Gipyuw wpdtipp (45 nwpt-
Julmu), ipti hwynGh t, np Ngs = 700, Dgs = 82, hul i = 8%:

Lniomd

Uhnwwnwywndbtph  hGgbipupwghwih  wpryniGpnid 20 wwph
htnn  Gpuw  wfuwwnwupép Yuqih W = 25000 - (1.07)%°, huy
wiuwlwl YhtlGuwpnpwyh swthp P = % Uju yhaGuwpnpwlGtph
wlnnwpwluwb Gipuw wpdtipp 65 mwpblwbnid YhGh

_ az) _ W (Nes-Des 11
B—12P-a65 —7'(—[)65 +ﬁ)

buy 45 nwpbiuind winnwpuywl wpdbpp YihGh B -, Eys,
uwluwyl fulnpmu GGpwnpnd £, np wGdp Juwph dhGsl 65 mwpbwda,
nmuwnh 50Ess = 50Pss - v*°-h wnwehlG wpnwnphyp Ygtpwoyh 1-h, U
wprynipmy ywwnwufuwbp YihGh'
_ 25000+ (1.07)2° /Ngs_Dgs 11 20
- 2 ' ( Des ﬁ) i

~ 82,970.66:

APV = B - 1?0

? CnhwGnp nwpmd Py = Py * Prg " o” Prse—1, UGG wyu fulnph wwpugquinud
gullyugud k = 1,2, .. -h hwiwp pyyy = Py, hmbwpun Py = Py * Py * o Py = Pi:
t
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8.3. Qwpyt1 x wmwptjwlG wGdhG wlplnhwwmnptG Ydwnpynn
nwptjwl 1 dhwynp wpdtpny wlinthmbwh wyjmniwpuyub Ghiplu
002, 0<t<10
wndtipp, tpti 6 = 0.05, hul y, = {0.03 t>10 :
Lnionud
‘Lwhu b wnwye qulhbp Yjwlph dGwgnpmujhl mbnnnipjul pw)-
funudp.
t
_s(x+1)

P(T, > 1) = sy DO —fy“udu ={
0

Ujuyhuny wwhwb9ynn a, dtompjul hwdwn Jumwgyh.

e 002t 0<t< 10,
60'1_0'03t, t>10 *

a, = f vtP(T, > t)dt
0

10 o]
— f e—0.0St . e—0.0tht + f e—0.05t . e0.1—0.03tdt —
0 10
11— e~07 Y o038 12
7007 ¢ o008 °%

8.4. UG4p, npp 36 wmwptwi b, qlnd E thnthnjuynn Ydwpny
Ywlph yYbpolwdwiytn wlnthntinm: Unweohl Ydwph dhonipynilp
2000$ t, hul wjGnihtimb wjl wémy E wmwpbuG 400$-ny" wnw-
JtjugnyyGp 10 mwnph: UpyniGpnid unwguwd Jdwpdwl dtonipjniln
5 mwph dlnd E hwunmwwumn G, nphg htinn uunmd £ Guqgt] muptluG
200$-ny’ dhGslt 0-h hwuGhip: Lwpuwgpywo winthntwnwjhl hwpbkph
wlinnmuwpwlwl Gopw  wpdbpl  wpunmwhwynb]  YnintnwghnG
$pmlyghwitiph thengny:

Lnomd

‘Lhwpugpywo wlnthnbtnwhG thwpbpp Jupbh E yunlbpty
htimljwy Ybpy.
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Qnulwp

2000 2400 5600 6000 ... 6000 5800 200 O

1| | | | | [ |
1T I I I

36 37 38 46 47 .. 51 52 80 81

v

Swphp

Muwhw9ynn dhompynlp Junbijh £ uvnwlwg mwppbp tnuGwl-
(Gbpny’ dh pwlh wlnithmbmwihG Gipjuw wpdtpltph gmiwph nbtu-
pny: Umnpl Ghpluwjywugywo b wyn mwpptipuyGtiphg dtyp: Unwehl 10
JGwnpnudGhipp Juptih t Gepyuywglt] 20008 yGwnpny 10 mwpduw dwd-
YtwnwjhG YtipgGuwduniytin wlnthwntnh b dkYy mwuph htmwédquo m
9-wijw dwiltinny 400$-ny wdnn YtpgGwdwijtn winthmtinh gni-
dwnh wmbtupny, hwonpn 5 Yyawpltpp' 10 muph hbnmwadqyuo 5 mmwph
dwiljtinny 60008 Jdwpdwdp dwiytnwihG JpeGudwdytinm whnih-
wtinny: bul npwbhg htin YydwpnuiGhpp YGaEpYuwyugybl 15 mwunpny
htimwdquo 29 mwph dwdytinnyg 200$-ny GJuqnn YtipgGudwdybtn
wlnthmbtwnny: Uyjuyhuny unwgymd k htimbjw wpmwhwjmnipjnilp.

APV = 2000 - azq.1q; + 400 - ;,(Ia)36.5) + 6000 - 1/az6.5) + 200 -

15|(D@) 36397

Pwlwdund dwulwygnn wlnthnbtnlipl wpnwhwjnymd GG
YninunwghnG $niGyghwGlpny htimbyuy Yhpy.

~_ N3; =Ny
e =
S3g = S47 =9 Nyy
Ny —Ns;
10|936:5] = Dyy

15|(Da)36:2_9| = (30 " Qs1.29] — (Ia)51:2—9|) “15E36
_30- (Nsz — Ng1) — (S5 — Sg1 — 29 Ngq)
D3¢ '

Ujuyhuny’ unwgymud b
_ 2000N37 + 400N47 + 400(538 - 547) - 200(N81 + 552 - 581).
- D3 '

APV
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85. 50 mwptlwl wGdp qlmd E wiuwwl k ydwpny uyqplw-
duniytin wlnihntin, nph wowohl 60 JdwpnuiGhpp Gpwfuwynpduo
G0 (uvw Gwlwynd b, np wju YydwpnuiGipp wuwpuwnhp apuny
JyuunwpgtG b juwhppdwo sh6G wGdh nn9 (hGhm hwlqudwlphg):
Qpwlhg htnn YydwpnudGbpp jhpwjwtwgytl wylpwl dwdwluwly,
pwih ntin wGap nn9 t: Uyu thwpbpp qltnt hwdwp wGdp Jewpnd k
50,0008: LwywGh t, np

i =0.07, Dgg = 5,200, D55 = 4,100, Ng5 = 60,000:

Nnnpty k-G:

Lnionud

Uduwyuw k Yydwpny uyqpluwdwiytim tpuwfuwynpjuwd wlnth-
wtunh Glplw wpdbpG £ 12 k- a5,
Jowplbpp wduwywb k ydwpny 5 wwpny hbnwdquo uyqplu-
duniytim Yjwlph whnihntin GG, nph winnmuwpwlwb Ghiplw wpdtpG

£12-k- Slagy) <wpyh wnbtyny wju thwptph hudwp qGiwG wwhhG

Jdwpyud  50,0008-p" wtwp bt k-h Guudwdp mobtyp htnljuyg
hwjwuwpmip

50,000 =12 k - dg
nputinhg unwgymu t

huy dwgwo wuwydwlwywb

(12) +12-k- 5|a%2),

i = 50,000 50,000 ~ 270%:
- .(12) .(12) _ ~ :
12 - ( gt 51050 ) 12 1-v° n (Nss _ E_Dss)
202 " \Dg, ~ 24 Ds,

Ohdw 9: 2nun b hwiwjuwnl wyywhndwqpudwplbp

Uju ptidwygh plGiwpynuib uuynid £ wyyuwhnjuqpujub nGhtpni-
pjwl owfjuubtiph ptnGjwonipjul wmwpptph Gipuwjwugiwdp b dh-
(wluwywl wwpunwynpmpiniGltph hwdiwpdbpnipjwl  vwhdiwG-
dwip’ nmwpwlowwmbiny gqnin wywhnjwgpwydwph b hwiwjuwnb
wywhnjwgpuwydwnh nhyptpn: UaGunpnGwlwl vwhdwlwjhG ptn-
ptvh ypw hhiGgwo Gwnuywl dnnwpydwb shongny npnpynid k wyG
wwwhnjugpuydwnph swthp, npl pGYipnmpjuGp uwwhngh mpjuo
a hwjwlwywbnipjuip suGwlyuwlwint hGwpuynpoipjnil: Uju dnnb-
1 Yhpwnynd £ gquun b hwiwjuwwm b wywhnjuwqpuydwnbbnh, hog-
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whu Guwl hwybuydwnpny (phnGwonipynilG) vwhiwlijwd wuwhn-
Juwgpwydwnph hwdiwp (nku [6]):

Uwnighs hwipghip

1. Npn°Gp GG gnpownGulwl dwiuutph hpdGwlwl pununphs-
Gtpp, U E°pp 66 ngpuGp hwlnbtu quithu:

2. bGswb®u £ uwhdwGynd gnin Ynpunh pniGlyghw:

hGswb°u £ uwhdwGynid hwiwjuwnG Ynpunh pniGlyghw:

4. 0°nG t PhGwlGuwyub yupmwynpnipjniGGiph hwiwpdbpni-
pjwl uygpnilpn, U &°pp b uwjumynd wyn hwiwpdbpmpnt-
Gp:

5. bGywt®u L wpnwhwjnynd wywhnjugpuydwph vwhdwd-
dwl pywlwmhih dtpnnp:

et

Unwownpuliph opphliwy

9.1. Yhunwnpytlp 20 mwpjuw fuwnl wywhnjugpnipjul wwy-
dwlwaqhn, nph hwdiwp wywhnjunhpp Gnyy6 dwdybnnd juunwpnid
L uyqplwduiytm Jdwpmuibtp: Muyjdwiwuwghpp qudwnyty £ 35 vw-
phjwG wGdhG: 100,0008 hwnmgiwl gnidwpp Ydwpybin £ dwhyw
nuwpjuw ytpgmu: Uywhnjwqpnnp uwwnpnd L htnbjw; dwiuubpp.
(whiGwlwl dwfuubtpp Juqimd GG hwnmgiwl dtonpjul 3%-p L
wnwohl wwywhnjuwqpuydwph' 20%-p, hull hwjwpwgpiwl dwhuub-
nn Juquimu 6 tpypopg U jnupupwGsnip hwenpn ydwpdwG 3%-n:

QwynGh b, np L = 100,000 (1= =), huly wuptljwG EpPhlpnf
unynuwnpnypp’ i = 7%:

w) Guqut] wpnwhwjnnipjmG hwiwjuwnl Ynpunp dtonipjub
hwdwn:

p) Lupyt] muptyuwl hwiwhwnld wywhnjugpuydwpn:

q) w2yt hwiwfuwnG Ynpunh dhonpjwl vnwlnupum ptnmun:

1) Lwytp hwywlwywbnipynilp, np wuwyjdwlwghpn YihGh Qwhb-
JuG:

Lnionud

w) Lowlwykbp P-ny wmwptjuwl hwdwhpwnl wwywhnjuqgpu-
Jdwnh dtompniGp: Uyn gliypnid hwdwhiwnl Ynpunp dtonpyniGp
Jupuwhuwjnyh hbnmbyw) Yhpy.
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L3 = 100,000p™nKss5¥1:20) 4 3,000 + 0.17P — 0.97 Pl iavi20)7:
p) Swptijwl hwiwhwnG wywhnjuqpuydwpp E L“g = 0 hwjw-
uwnpiwl nonui@ &
ELJ = 100,000435 5] + 3,000 + 0.17P — 0.97Piiz5 35:

Luwfu hwptlp Ass.55-n:

20
Assz01 = Z P35 " G35 " V' + 20E3s
t=1
20 l l
35 — U35 1
=Z% vt pag - 120
35
lss 1—vp20
‘ v =y 4 0.75 - p20
802 L T v
= 0.3262.
.. 1-Ayq .
Oquutiny dz = nn dzszo) ~
10.2989:
Ujuyhuny
P =3627.71

q) Unwlnupwn tnnuip qubhnt hwdwp Gwjpu hw)dtlp Juw-
nhwghw(: Lywwnwwhwpdiwnp k Lg -6 wpmwhwjnby htnbyjwy Yhpy.

1 = (100,000 + 227%) ymin(Kss+120) 4 3,000 + 0.17P — 227
d 7

npnbinhg JunwGwp.
0.97P\? 2
Var(L9) = (100,000 + T) (2Ass.301 — (Asszor)):
2A35:2—0|—ﬁ, punt uwhdwliwG, Gnyl Asszei-6 L hwpqupljuo
26 = 0.1353 wnynuwnpnijph hGwmbGuhynmpjup, nphG
hwdwyuwnwufuwing £ vy = e™?% ~ 0.8734: Wuwhuny' 2435551 =

1-v20

vy B0 + 0.75- U ~ 0.1306, htnbwpwn

Var(L]) ~ 572 -10°:
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buy o = /Var(Lg) ~ 23,916:

1) ®Gunnynn hwjwlGwywlnipmmGa
0.97P

g min(Kes+1;20) ~ _ A 3,000 - 0.17P
— i ;
Pl <0) = Pl vt < 0.97P
100,000 + —7
1
=P (min(K35 +1;20) > 5 ln(3.0652)>

= P(K35+ 1> 16.55):

Uw Guwlwymd £, np ywjiwlwghpp pwhbtwG YihGh wyG U
thwjG wjl nhiypnud, tpp wldp wyph bu 15 mwph b yuwyjdwGwgnph
16-pn mwpyuw ulqphl Juumwph htippuyuwl Jdwpnidp, wyuhGpG

P(LS <0) = 1p35 = ﬁs—l =0.8:
35

9.2. Uywhnjugpuywl pGytpnipyniGp 30 mwpbjul wGdwlg
Jwdwnnd £ Yuwlph giwh wwwhnjugpnipjul wwjdwlwqptn:
100,0008 hwwunignuip wnpynd £ dwhjwl wwpjw Jbponid, nph
hwdwp ywjiwlwgnph gnponnnipjul nne pipwgpnit wywhnyjwnhpp
wtinp L jnipupwlynip wwpyuw uyqphl ydwph P wuyyuwhnjugqpu-
Jdwn: LwhGwlwb dwhubpp Juqund GG wowohl wwywhnjwgnpu-
Jdwph 15%-n, hul pGpwghy dwhiutinh hwiwp oqunugnpoynd k jni-
pwpwsjnip wwwhnjugpwydwph 4%-p (Ghipwnjw] wowohl www-
hnjugpuyswpp): {wjwnGh b, np Az = 0.0787, 245, = 0.012, huyy
nwpbiwl nnynuwnpnipn’ i = 5%:

w) {wpyt] wwywhnjugpuydwph swihp' Yhpwnting phiwbuw-
Juwl yqupunwynpmpjniGGtph hwdwnpdtpnipjwb uljqpnilpn:

p) Gipwnptiny, np wuwjdwlwgnptph yuwjnuwymd Jua 10,000
thwidwl yuwjiwlwqpbp, hwpyb] wyuwhnjuwqpuydwph swthp' Yh-
nwntiny pywlwnhih dtpnnp wjlGwytu, np yuwyntuwnid Ynpunh pniGy-
ghwjh puguwuwyuwl hGhnt hwywGwlwlnipniGp yuqih 95%:

Lnwonud

w) dplwluwyul wwpumwynpmpnliiph hwiwpdbpnipjwd
ulqpmilpp yihGp

Plizy = 100,000439 + 0.15P + 0.04Pd3y,
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1-A3zg

= 19.3473:
Ujuntinhg unwgynud £ hwiwpdtpnipjul wyywhnjwqpuydwnpn’

nputn Gz =

p= 100,00043,
0.96 - dzo — 0.15
p) i-pn yujiwlwgnh wywquw Ynpunh dtonmpjniln YihGp
Lo; = 100,000v%30*1 + 0.15P — 0.96Pag_ i,
nph wp. uywunidp YihGh'
ELy; = 100,00043, + 0.15P — 0.96Pdi3, = 7870 — 18.4234P:
buy Juwphwghw( qunbbm hwidwp Ly ;-6 wpmwhwjntlp hb-
nbjuw Yupu.
Lo; = (100,000 + 22) o+t 4 0.15p — 22,

~ 427.174$:

npuntinhg
2

0.96P
Var(Lo;) = (100,000 + T) (%430 — (430)%)
= (100,000 + 20.16P)? - 0.0058:
Udpnn9 ywjntuwyh wywquw Ynpunp dhonipynGnp YihGh

__ 10,000
L= Zi:l LO,i?

nph hwdiwp dwp. uywundp b yuphwghw( hwiwywnmwujuw Gupwp
Juunwgytkd.
EL =10,000(7870 — 18.4234P),
Var(L) = 10,000(100,000 + 20.16P)? - 0.0058:
L-h pwpfudwl Guumdiwdp Jhpweting Gwniujwl dnnwpynuip
Juunwugyp

L—EL EL EL
PL<0) =P (JVar(L) <- JVar(L)> ~ @ <_ W)
nputin @ (x)-p uvnwlnupun Gnpdw) pupfudwl $niGyghwa t:
Utip Guyuwunwyl t wywhnjugpuydwpp vwhiw6b] wjGwtu, np
P(L < 0) =0.95:
Ujuyhuny’ wtinp £ jnuot) hbnbyw) hwjwuwpnuip
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10,000(7870 — 18.4234P)
(o} = 0.95:

\/10,000(100,000 +20.16P)? - 0.0058
Unwlnupn  Gopiwp pupfudwl hwiwp ©(1.64) = 0.95, hb-
wbwpwn P-h Gunmdwdp notny unnpb gpjuwd hwjuwuwnpnuip’
_ __10,000(7870-184234P)  _ 1.64
100(100,000+20.16P)v/0.0058 ’
wprymGpnid Junwgyh P =~ 434.55%:
Qhwnnpmpymil: Lwwblp, np wjunbtn wwywhnuwgqpuydwnph
wnpdbipp Juwjpuwo b wwjiwlwqgptiph n = 10,000 pwlwyhg: Gph
wuwjiwlwgpbph pwlwyp’ n = oo, wwyw Juunwlwlp GniyG hwdiwp-
dupmipjul wywhnjugpuydwpp 427.174$:

Ohiw 10: Yyuwlph wuywhnjugpnipjubl (Cwphdwnhlulwb)

wjwhniuwnGhip

Uju ptdwjh 2powGwynid niuwlnnhG hwihpd Gepluyuwgynd bG
tpjupwduiytin wywhnjuqgpnipjwl nnpumyd ywhnwunmGhph ghpp
U Guwuwuwlp, hGywbtu Gwb mwpynd £ hwibdwnmwyw6 ny Yjuwbph
wuywhnjwqpnipjul wuwhnunGtph wbuwyGph htun, npnGp nuw-
GnnhG owlnp Ll «Uwywhnjugpuyuwb gqnpo» wnwpyuwjhg: Uwplidw-
wnhjulywl ntuwbynilGhg Gipyuwjugynd LG Yjulph wyywhnywagpnt-
pjul dnpbGipnd wywhnuunmbGiph  hwpqwpiwG  htwnmwhwjwug
(retrospective) ni htinwGwnwjhG (prospective) tnuGuwlGtpp, U gnyyg L
upymd npulg hwiwnpdtpnipyniGp: UtipnnGtph pGghw6nip Gupw-
ghpn mwnig httn Gywwwwhwpdwn b ptipt] th pwlGh wmbuwyub
(ny pywyhG) oppGuyltp: YQywlph wuywhnjugpnmipjwl nplt dnnbh
Ypw gqnun b hwiwhiwunl ywhnunGtph hwdwp nnipu G6 phpynd 3
hpiGwywl wlgpuwnupé pwlGwdbtppn, b mpynd £ npubg dhyGw-
pwlnipjmbp (nb'u unyyG ptdwgh 3-pn unnighs hwpgh wwwmwuuwGn
b {wybtpwo 2): Ehdwgh wjwnpwhl pGGwunpyynid L ywhniulbph hw)-
Jwnyp dhowGlyjwy wywhtnhG, hGs6 £ pnhwGpuglting hwignid tlp
wipGnhwwnnpbG hwyupyynn ywhniunmGbphG (nt'u [6]):
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Uwinighs hupghp

1. B°Gs £ Yyulph wywhnjugpmpjul wwhniuwnp, b Gpp ©uyG
hwpqwnpyynid:

2. Opn°Gp GG Yywlpph wwwhnjugpmpjul wwhnumph hwyp-
Jupydwl dtpnnGtpn:

3. UtlGwpw(t] wwhniunGtph 3 hhiGwiwl winpunupd pu-
Gwdaltpp Yywlph wywhnjuqpnipjwl nput, dnnbkth hwdwn:

Unwownpuliph ophliwy

10.1. Gyulph giwh wwywhnjugpnipjul wwjdwGwghpp YJuw-
Swnymu L 40 mwptwlG wGdhG: Cun wuwjiwlwgph wnwohlG 10
wmwnphGtph ppwgpnid dwhywl ghiypnid dwhywl nwpjuw Ytponud
Yhwwnigyh 50,000, huy npuGhg httin® 100,000: <wywnGh GG htwmbjwg
ubhonpymGGtpp M,y = 740, M5 = 675, M5y = 580, Mg5 = 475, Ny =
59,000, N5 = 42,000, N55 = 27,000, D5 = 1,700, D5 = 1,150:

w) Npnpt7 wyju ywjdwlwgph qnun mwpbjuwl wywhnjwuqgnpu-
Ydwpp:

p) N2t ywhniunh dkonipjniGp 45 mwuptwlnd:

q) Npn2t1 wwhniunp dkonmpjnilp 55 mwpbjw lnid:

n) Lwjunpn Ytnh hwdwp npnpk] wGdhG wpdbhp wywqu
hwwnnigiwl wjl dwuGwpwdhlp, npp qnjulwnt L Gpuw wywqu
wywhnjuwgpuydwnlbtphg:

Lnionud

w) Swpbjwl wywhnjugpuydwnph dkonmpjniln GQulGuyklp P-
ny: Uju wuwjydwlwgph hwiwp wupumwynpnipjniGGtnh hwiwpdtipnt-
pjwl hwjwuwnpnuin YihGh

P-4 = 50,000 'Azlxo:1_o| + 100,000 - 15/440:
UnintnwghnG $niGlyghwbtinh dhongny wpmwhwjmyjw o
a40=%A1—=M40_M50 =@:
Dy, 4010l Dao » 10]4140 Dao

Stnunptiny wju  wpunwhwjunmpnbltpp  hwdwnpdbpnipjwl
hwjwuwpiwb dt9 U Ywuwwpbny Giwl wlnuwdltph dhwgnd
Yuunwgyh
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P =50,000- 20 Ms0 11864,
Ny
p) Uju nhiypmd Gywumwlwhwpdwnp £ ywhmunh dtompjniln
hw)ytiy htmwhwjug dtpnnh oqlmipjudp (hGsn®): MNwjiwGugph
YyGpnuwihg 5 wmwph wig wywhnjunnh juunmwpwd yadwpnudGhph Yne-

wnwlyquwd wpdtipp YihGh' P - 3405, huy wyy Goyl ulwhhﬁ wujw-
hnjwgqpnipjwl Ynunmwlywo wpdtpp YihGh 50,000 - Ao 5' : Wuwhuny

wlhpwdt)um ywhniump deonipniG6

1

A
Vio = P+ $40.5 — 50,000 - =22
5~40

_ P (Nyo — Nys) — 50,000 - (Mo — Mys)
Dys

q) Wu phypmd wwhnunh dtompniGl wnwyltp nymphG
yhwyjwpyyh htnwGyuwpwjhG dtpngny (hGn®): Caytpnipjul wup-
nwynpupjnililiph winnmmuwpwywl  Gipluw wpdtpp  YhGh
100,000 - Ass, hul wwwhnjwnph Ynnihg yYdwpybtihp wwywhnyw-
gnuydwnlbph winnwpwlwl Gipyuw wpdbpn P - dss: G4 wyuybu,

nGytpnipymGp wuwyjdwGuqgph YGpnidhg htimn wtwp t dbwynphp

100,000 - M55 — P * N55

Dss

~ 9,275:

15V40 = 100, 000 - Ass —P- dss =

~ 15,040.63:

1) 55 mwpbjwind vywuynn hwnnigiwl wjl Jwulwpwdhln,
npp gnjuwlwnt E wywqu wywhnjuwqpuydwpltinhg, Gipluwjwginud
E httmnlyw hwpwptipnipyniGp’

P dgs
100,000 - Ass

10.2. Yhunwpyynid t 50 mwptwl widhG Judwnynn 20 mwunp-
Jw fuwunl wwwhnjugpmipjul wuwjydwlwagqphp: SwptjuwG wwwhn-
Jugpuydwnbtpp yuqdnd 6 23,5008 U ydwnynid GG wuyywhndunph
ynnihg wuwjdwlwqnph gqnponnmpjul nn9 plGpwgpnid: 700,000 w-
wwhnjuwqpuyuwb hwnnignuip Yyswnyh, tpti wGép nn9 1hGh 70 mw-
ptjwlnud: UhGsk 70 mmuptwl gunGuip dwhywl nbhypmyd hw-
wmnignuip Yunpygh dwhyw6 nmwpjuw ytipend” swhywl mwpjuw uyqpnid

~ 0,63586:
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hwyyuwpywd wwhniunmh dkonipjul suthny: Lwjymbh t, np i = 3.5%,
wwjiwlwghpp sh Gwpwwntund dwhuutp, hull Ywhwgnipjwl hwdwp
Yhpwnynud k htimbywy wnynuuwyp’

x 128
65 | 0.99409
66 | 0.99338
67 | 0.99259
68 | 0.9917
69 | 0.99071

w2yt 45V

Lnionud

Muwhnunbph  hw)Juwpyiwl wlnpunupd pwlwdll (nbu
Lwytiwo 2) wyu fulnph hwdwp YplnniGh hmbjw) mtupp’

(V+P) (141 =Gy " Sta1 + Pt " 41V
nputin P = 23,500, huy S;4q1 = ;V:

Muydwlwgph YytipohlG mwpjuw hwdwp dwhywl nhypnd hw-
nngnuin  Yywqih 6V, huy nn9 dlwm nphypnd Jhwwmnigyh
700,0008, niunh unwgywd pwlwdlmd wmbnunpbny ¢t = 19 b dbq
hwjwnGh dhonipniGatpp’ JumwGulp

(19V +23,500) - 1.035 = ggo * 14V + 700,000 pgo.

Uju hwjwuwpdw@ nionip Yuw dbkq 10V-h wpdbpn, npp Yhpw-
nbtny ¢ = 18-h hwdwp Giwlwwhy pwlwdlbny Junwlwlp gV n:
UnlyGny GnyyG qnponnmpjniGGippn b Jtpen YhwpytlGp 5V -h
wndtipp’

(700,000p¢9 — 1.035P)

19¥ = (1.035 — gg9) = 652,401,
ey 60T
o O = 562145
=y = 930
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(16V " pes — 1.035P)
15V =
(1.035 — gg5)

10.3. UwhywG wuwhhG 100,0008 hwummgiwdp Yjwlph gdwh
wwwhnjugpnipjul yuwjdwlwghpp Judwnynid £ 60 mwptjwl wi-
4hG, nph ghiwg Ydwpynid L whplnphwnnptl hw)uwplyynn wwywhn-
Jugpwysdwp: {wjywnbh b, np agy = 23,d45 = 19, § = 0.03: Npnph]
wwhntuwnh dkonipnilp ywjiwlwgnph YGpiwb wuhhg 5 muph wig:

Lniomd

UGhpwdtpnn wwhnunmp (ywunwlywhwpdwp t hwyyty htnw-
(Ywpwyhl dtpnnny.

sV (Ago) = 100,000445 — P - Ggs

Swptjuwl wwwhnjugpuydwnph P dtompniGp Ynpnpyh wwy-
dwlwqph YGpdwl wwhhG wwpumwynpmpyniGGinph hwiwpdtipni-
pjwl uyqpnilpny’ P - d@go = 100,000 - Agy: Wjunbtin Yyhpuntlp Gul
A, =1-— §-a, pwGwélp U wbnunpbny wwhnuwnh pwGuwdlng’
Juunwlwlp

= 478,063:

_ 1-6-a
sV (Age) = 100,000(1 — & - Ggs) — 100,0006_1—60 s
60

~ 17,391$:

Uwniqhs hupgbph yuumwufuwGihp

otjw 1

1. Gnjuunbiwb $nibGyghwjh hwnympymGatpG GG

w) s(x)-p Gwqnn E (ng fjuhuw),

ps0) =1,

q) s(+o0) = 0 (s(w) = 0, npuntin w-G vwhiwGuwjhG wwpppd t,

1) s(x)-G wohg wbplnhwuwn k:

2. s(x) gqnyuunliwl $mGyghwb gmyg b mwhu hwjuwlGuljubn -
pjnilp, np GnpwohGp nno YihGh x mwptiuwl hwuwynid:

3. Gnyuunldwl PpmGyghwG Ywpumwhwymyh dwhwgnipjub
Unph vhongny wjuujbu.

s(x)=1-Fx)=1— | f(bydt = | f(t)dt
Jrow=]
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4. ®npp t-h nhwypnud p, - t-6G gnyg L wmwihu hwjwlwlwlne-
pynilp, np x wwphph hwowd wGdp Ydwhwlw (x, x + t) dshowlwj-
pniy:

5. Uwhwgnipjub hGunbGuhynipjul hwnlnipymGGpa GG

w) py 2 0,

p) Jf, Hydu = +oo:

6. Gnjuunldwl PpmGyghwG dwhwgnipjul hGunbGuhynpjwb
dhongny wpnwhwjnynd £ htimbywy Yepuy

X

s(x) = exp {—J-uudu }:

0

0w 2

1. Gyulph dGwgnppwjhG wmunnmpjnilip yquunwhwlywb dkont-
pjniG £, npp gniyg £ wnmwihu wyG mwphGiph pwGwyp, npl wiap Juw-
nh x mwptjuwlhg htnn

T,=T—x:

2. Jyulph dGwgnppujhl nlunnmpjul dwhwgnipjul hGunbG-
uhynipyntGG wpnwhwjnynd b Yywlph munnnipjul dwhwgnpjw
hGunbtGuhynmpjuwdp wju Yhpy.

px(t) = Hyips
nnp Gpwlwynd k, np x mwptjul widh hwiwp ¢ mwph htivn dwh-
Jwl hGuntGuhynipjniGp GnyGa t, hGy GnpwolGh hwdwnp x + ¢t mwpb-
Juwlnd dwhwgnipjwl hGuntGuhynipjniln:

3. Gyulph vGugnpnuyhG munnmpjuwl hhiGwlwb pGnipwugnpy-
GtpG GG s, (2), (), i (®) U wypl, vwuyl wnwyt) wwm Ghpunynid
b0 htnlywy vhonmpymGGhpp

Px — hujwlwlwbnipynilp, np x mupbjul wGdp yuwph Lu t
wwph,

¢4 — hwjwlGwwbnipyniGp, np x mwpbuwl wiép ydwhwlw un-
nwlw ¢ mwuphGhph pGpugpniy,

tindx — hwjulwlwlnpymbp, np x mwuptjuwl wiép yuwph bu ¢
nwnh b jdwhwlw npulhg htimn n mwphGtph pGpwgpnid:
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o

e,— x mwptijul w6dh hwiwp Yyulph dhohlG Whwgnpnujhl
mbnnmpniGa k:
4. Yyulph vhohG dGwugnpnuyhl wmbnnnipnilp gx, gniyg L wmw-

1hu wyG dhohlG dwdwlwlywhwnmywon, npp whdp Juwnph x mwphphg
htinn, hul Ywlph dwulwyh dhohl dGwgnpnuyhl wmbnnmpyniGp

exmp> 9gnyg L nwihu wjl dhohl dwiwlwlywhwnywon, npp whdp
Juwuwnh (x, x + n) mwphpwjhG Showluwpniy:

Okw 3

1. Yyulph Ymnpuwgwo wmbnnmipjmGp Ywuwlph vGwgnprnujhG
wnbnnnipjul wipnng bwul b’ K, = [T, ]:

2. «Uwhbph hwjuwuwpwswih pupfudwly dnnbmd s(x) $nGy-
ghwln < x <n+ 1 dhowjwjpmd dnnwpyynd & hwjwuwpwswh
InGlhghwyny: UpnyniGpnid uvnmwgynid £, np mwpju plipwgpnid dwh-
Jwl hujuwlwluwlnpmip hwiwdiwuluwyw6 E ghunwpyynn dwdw-
Gwywhwnwohl' g, =t-q,,0 <t <1:

3. «Kuuunuwuni( dwhwgnipjuG hGunbGuhympjul» dnnbnd
tapunpynud t, np p, = pyp,n < x <n+ 1: UpyniGpnid unwgynid k,
nn Py = P

4. «hytppnihy» dnghnd YnnnpujuhG wwphpGbpnid hwjuw-
uwpwswth  pniGyghwyny b dnnwpyynid % dtonipjnilp, npuntin

n<x<n+1:

0w 4

1. Uwhwgnipjul wnynuwyltnG hptlGg YhpunmpnGG mGLG
mlmtunipjwl, dnnnyppugpnipjwl, YaGuwpnywlwjhl, wywhnyjw-
gnuiwl U wy; nnpuGtpnd: Fpwlg thongny Juumwpynmd 66 JuwG-
fuwwnbuniGip wywqu phGwlGuwlwl hnuptinph wonwybt] wpyniGw-
Jtn junwyuwpiwb Gyuunwny:

2. (Fhuyh pGupnipjudp wnnmuuyGbpp Gwppwntujws G6 wyl
wldwlg hwdiwp, npnlGp mupptpymd GG wyjw; mwuphph hwuwpw-
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Ynipjwl wyp wlnwuiltphg hptiGg wnnnonipjwdp, wnwyt) nhujwjhG
twulwghwnnipjudp Jud wy gnponGltpny: Ohulh pGunpnipjudp wn-
JnuuwGipnd dwhywl hwywluwywbnipyniGp Jupnn t 1hGh hGywtu
wybth ko, pwl unynpuluwl wnynuuwlyltpnd, wjybu b wybh
thnpp:

3. UwhiwGwthwl duiytinny nhuyh plGupnipjudp wnjnuuwy-
Gtpmd n duniytnh wjwpuhg htnn wnmuwyGhph wwppbpp [x] + n
wnwnphph wGdh hwiwp hwdpGylnd &6 unynpuwl wnnuuwynid
x + nnupbjwl widh hwiwp hpwnynn hwiwwywwwufuwl wmwnpph
htin:

otjw S

1. UGhwwnwlywl hwjmh dnphmnud qnun wywhnjuwgpuydwpp
hwpquwnlynid £ nputiv vyuwuytijhp Ynpumh dhohl wpdtip:

2. Gnmudwpywy hwynh dnpnud GGpwnpynud E, np.

w) nhnwpyynn wujdwlugpbpp dhwGdw GG,

p) pninp nhuytinG hpuwphg wiywfu Ga:

3. UGwGyugniG wjl hpunupdnmpniG6 t, tpp gnidwpjwy hwy-
wmh dhompyniGG wytih 6o £, pwl nyjw wwhh paybpmpjwub yuwh-
nwil k: UGwlGjugdwl hwjwlwlyuwlnpjnlip dnnwpyynd £ hwdw-
duwjl YtGupnGuywl vwhdwlwihG ptnptdh’ vnwlnupn Gopdwg
pw2fudwl vhongny.

P(SSu)sz(u_ES)-

VvarS/’

4. Quphth bt gnyg wwy, np tph npybtu wwwhnjugpuydwnp
ytingyh qnin wywhnjuwgqpuwydwpp, wyw ulwljugiwl hwywlw-
JwGnipyniGp YihGh 0.5, huy nu phqGhuh hwdwp wlplGnniGh E:

5. Quytpuydwnl wjyl gnuiwnl b, npp pnyp L wwihu dhowglty
paytpmpjul juwhunwip (hwjwpwgnynn wywhnjuwgpuydwpp) b
Jupquynpl] uGwbynipjuwl hwjwlwlwlnipymn:

6. Uwuwuynn yGwuh hwiwdwulnipjub dngbniud’

L;
E_Xi.
Dhuytinpuhwjh hwiwdiwulnipjwl ingbmd

9i=
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xXq Varg;
VVarS E§
Uhohl pwnwlwniuwjh 2tniwl hwdwdwulnipjwl dnnbnud
VWarS  [Varg

¥V Jvarg  Eé

7. Uywuynn yGwuh hwdwdwulnipjub dnpbpmd’

VVarS
pi = Efi(1+xa £S >5

Qhuytipuhwjh hwiwdiwulnipju G Wngbnd®

xtl
i = E&§ + —-Varé;:
pl fl VarS fl
Uhohl pwnwlwniuwjhG 2tniwl hwdwdwulnipjul dnpbnud®

VVarS
v = JVaré;:
j=1V Varfi

9i=x

pi = E& +xq

otaiw 6

1. Nput j yuwndwnhg wywquynd quwunwhwlwl wwhhG Jup-

quyhduwlh Ynpunh hwjwlwywlmpymbpf;()-6 hwiwwnbtn funm-

pjw fr;(t,j) dniGyghwyny wpnwhwynynd £ wjuuybu’

O = [ fri@ide,j =12,.m
0

2. UhGsu yupquyhtwyp Ynpnunb pGyuwod dwdwlGulyh dwpgh-

Gwy funnipjuG $niGyghw f7(t), Jupbih & npnptp hwdwwnbn funni-

pjwl nmGyghwyh’ fr (¢, j) theongny htwnlywy Yhpy.

fr®) = ZfTJ(t,j),t > 0:
j=1

3. Qwdwubn fjumnipjul, yujdwiuyuwl pwpfuiw b dwpghGuyg

puwpfudwl pnmbGyghwbtipp Yunpbh £ Gipuwjugllp unnpl G2gwo db-

ontpjniGGhph thongny.
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w) vhGsu dwdwlwyh ¢ wuwhp pninp Wuwwdwnlbpny Jupqu-
JhGwhh wwhwywliwé ,pS” huwwlwinpjudp,

p) dwdwlwyh nput wwhhG htlg j yuumdwnny Jupgquyhdwlyh
Unpuwnp ooq,(cj ) hwyjwlwlwlnpjuip,

@) j wwwgwnny Yupguyhdwyh Ynpuwh P (¢) hGwbGuhyn-
pjup,

M) ponp wwwGwnGepny yupgudhGuyh Ynpuwh g () ho-
wmtGuhynipjudp:

Lwiwwntn fwnmpjub $nilGyghw

fry@&) = p” - u(@©:
Mujdwliwyub pwpfudwb niGlyghw

(0]
firGin = L0,
1y~ (6)
Uwpqhlwy pwptudwl dnibGlyghwbtpp
HO) = wa,
— ,(@ (@D,
fT(t) - tpx My (t)
4. Uh pw(h yguwwdwnny YJuwpquyhdwlyh Ynpunp wnjnuuwlyh
nwpptipp (dwl GG Jwhwugmpjul wnynuwyh mwpptphG pt” hptlg
gnbjuwdlny b pt’ hptiGg hpdwuwnny:

l((f) o gnyyg L wnwihu a mwphpmd Jupquyhdwl unwguo

wldwlg vhohlG pwGwlp (wyG Yupbih £ hwitdwwnb [ GnpuohGGtph
pwlwyh htinm):
l,(f) -G gnyg b wwihu Yuwpquyhdwly mbhkgnn x wnmwpblub
wldwlg dhohl pwlwlp b hwpguplynud | htimbjwy pwlwduny
1O = @ @,

a x—apa "
q,(cj )G gnyyg L wmwhu hwjwlwlywbnpjnlp, np x nmwpbywb
wlép dnnwliuw kY wwpjuw pGpugpnid j yuwwdwnny YynpgGh
Jupquhdwyp:
d,(cj )G gniyg £t mwhu x mwphpmd j ywwmdweny Jupquwyhdwlp
Unpgpwo wGdwlg vhohl pwGwlp, b wyl Juptih £ hwpyt] wjuybu.
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dg({]) — lJ(CT) . q)(CJ):

Otajwm 7

1. Qulph wwwhnjugpnipjul dwpbivwwmhluuwb dnghmnd
utip Gyuwwunwy L wnyju wywhnjugpnipjuwl mtuwyh hwdwp hwpytp
Z ptipwo wnpdtipn: UyG niGh htimbyw) pnhwGnip mbupp’

7 = bTx ] UT(Tx)’
nputin by -p gnyg £ wwijhu Yujlph wuwwhnjugpnipjul wuwjdiw-
Gwgph hwiwdw)l hwwnnigdwl dtompjnilp, tpp T, wwhhG wmbnh k
niGtgh] wywhnjuwqpuywa nhwp, t(T,)-n gnijg k mwhu hwnmgiwl
Jawpiwl ywhp, huy v-G nhuynGunh gnpowyhgG t:

2. UnimmunwghnG $mGyghwbbpp, pwgh pwGwaltinph wwpq
gntjwél wyuwhnybnig, nGtG Guwb bhghjujul hdwuwn:

D, = L,v* -p gnyg Lt wmuwhu ) GnpwohGGhph fudphg x mwnphph
hwuwo wGdwlg yowpynn 1 dhwynp gndwpbtiph hwGpwgniiwnpp
wlnnuwpwluwb Gipu wpdbpp:

Ny = Ym—x D1 gnuyg t wwijhu [y GnpudhGGhph fudphg x U wyb-
1h mmwphph hwuwo wldwlg Yewpynn 1 dshwynp gnudwpltph hwG-
pwgniiwnh winniwpwlwl Gipuw wpdtipp:

Cy = dv**1n gnyg £ wwihu /) GnpuwohGGtph fudphg x wwph-
pnud dwhwgwo wGdwlg dwhywl nmwpju ytpgnd ydwnpynn 1 dhw-
ynp gmudwnltinh hwGpwgmiwph wijnmmwpwywb Gipljw wpdtpn:

My =YXm=xCn-n gnyg L wwjhu [y GnpwohGGph fudphg x b
wytiih mwpphpltpnd dwhwugwo widwlg dwhywl nmwpdu ytpgnid
Jydwnynn | dhwynp gnudwpGbph hwGpugmiwph winnwpuywb
(Gbpyw wnpdtipn:

3. dJwdwlwyh 0 ywhhG Gepypwd 1 dhwynp gmiwpp $hGwG-
uwlwl Ynunwldwl phypnd dwwGulh ¢ wwhhG Yptph (1 + 0)°
Gwinun, hul wiumuwpuyuli jnmunwliwl ghypnd x nmwphpnid
Ghpypywo gmiwpp ¢ dwiwGwjwhwnywd wlg Yphph liﬁ 1+t

tiwdnun, tpt hhwpyt wGdp nn9 (hGh x + ¢t mwphpmy: UjuhGpG
unwgynd k, np wiumnwpuywl YnnwyndG wytih dto £, pwl
dhGwluwul ynunwynwip, pwGhnp L > 1,44
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4. Gyulph wywhnjuwqpnipjul vty wliummuwpwlwl ptpwo
wndtpp gniyg E nmwihu uvywuynn hwwnnignudGtinh shohG dtonipynilp,
npp uqind E gnin wywhnjugpuydwph hhiGuwjul dwup:

0w 8

1. Gyulph wlnthnmbnh wynnwpuywb Ghipyuw wpdbtpp plGyb-
pnipjul uyuuynn phGwluwyub hnuptiph hohl dtonmpniGa &, npp
Juqunid £ wlnthmbtinp qGiwb qGh gnun wpdbpn:

2. Jyulph wlnhwmbwnbtph hwpqupyiwb tpynt GnuGuybtpp
hwiwpdtip GG dhijwlg: Uyn dopnnlupl Ga.

w) gniiwpjw] yawph tnubwy — hw)Juwpyp jumwpymd k jui-
ph wywhnjuwqpnipjul wijnnmuwpuwlyuwb pipuwo wpdtph dhongny,

p) pGpwghy YGwph tnubwy — hwpqupyp unwpgmd b Yjwlph
wlinthmbwnh jnipupwGyynip yewph nhuynGumwynpdwl shongny:

3. Cuwm Yyowpiwl ywwhh' whinthmbnbtpp (hGnyd GG.

w) uyqpludwdltn — Jdwpnuip uunupynd E dudwluyh dhw-
Unph uyqpmd,

p) ytippGwdwiyjtn — ydwnpnudip juwmwpynd £ dwdwlwlyh dhw-
Unph Jtipgnud:

4. Cun Yowpiwl wuwppbpwlwlnipjuwl wlnthunbwlbpp pw-
dwlymu &6

w) nwpjuw ppuwgpnd vhy wlqud Yydwpynn — 1 dhwynp gqni-
dwph Ydwpnudp juwunwpymd £ nwpjuw plpugpmd dhwyl6 gy
wlquyd’ dwdwlwlh vqpmd Jud Yytpony,

p) nmwupju pGpugpnid m wiqud Jdwnpynn — Jdwpnudp Juwmwp-
ynd £ mupjw pGpwgpnd m wliqud hw)dupujhl dwdwlulw-
hwnywoh ulgpmd Juwd ygbtpenmd, huy jnipwpwlsynip Yydwpdiwhb
utionipynilp Juqund | i dhwynp qnuiwp,

q) wlpGphwwnnpblG hw)ywplynn — nmupju pGpugpnd Ydw-
pnuip hwpqwnpyynd £ 1 dhwynp hGubGupynpjudp:

5. Cuwm ydwpdwl dbonipjul’ wlnthntwmGbpn thGnwd GG

w) hwunwwunilG Jdwpny — vwhdwlGwo Yydwph dtonpjniln sh

thnfuynid wuwjdwlwqph gnponnmpjul nn9 ppugpnid,
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p) wdnn ydwpny — wlinmpnbwnh Jdwpdwl dkonipynilp mwntg-
wnwnh wénd L pjupwlwlul ypngptiuhwjny,

q) GJuqnn ydwpny — wlmhwtnh Jowpdwl donmpnilp jnipw-
pwyynip mwnh GJugmd t 1 dhwynpny:

otafw 9

1. GnpownbGuywl owhiub niGh Gptip hhiGwlywl pununphyGhp.

w) Lwhlwywli Ywd nhuljp vnwGdGiwl owhuubtp, npnlp
Gipwnmd G0 wwjiwlwagnph YopiwlG wnbsynn owfuubtipp: Wju
owfuuh qbpwlphn dwup Juqind G0 wwywhnjugpuywl gnpow-
JwihG wpynn vh9lnppuwydwnpp, Gwb wwywhnjunhpltph wnnnont-
pjwl (whulwlwl pndqGidwb owfuubtinn:

p) CGpwghy owhuutp, npnlp Ywlph wwywhnjugpmpjul dh9
wpunwhwjmymd GG htppuwjul wywhnjuqgpuydwnph npnpwlyh wnn-
Unuwnpnyph wmbupny: Uju owjuubpl pGytpnpinilp juuwpnd k
wywhnjuqpulwl pGytpnipyjul Gnpiw) gnponiGtinipniGG wwwhn-
ytm hwdwp (YnimGuwy Jdwnplhp, wuwmwupdGiph Jydwpnd,
hwpytp, yupdwydwnlbp b wy6):

q) Muwjpiwlwgph dwpdwl owfuubp, npnlp Ghipwony &6 wyw-
hnjuwqgpuliwl ntwphG wnGsynn wjGuwhuh owfuutin, hGswhuhp G
thnpdwghnwwb Ydwpltipp, pquunwywb owfuutpp b wyl, vwuwyG
wju Swhuuwwmbtiuwyh dto sh hwpqupiymd pnli wywhnjwgpuyjw b
hwwmnignuin:

2. 9mun Ynpunph dImGyghwl vwhdwlymd bt npybu hw-
nnignuiGtiph Gipuw wpdbph U gnun wywhnjugpuydwnGtph Ghp-
Jw wnpdbtiph mwppbpnipymG’

L}=7Z—-a:

3. {uiwfuwnl Ynpunmp pniGlghwl vwhdwGymd t npytu hw-
nngnuiltinh n dwjuutiph Gipyw wpdtiph b hwiwuwni wywhnyw-
gnuydwnltinh Gepljw wpdtiph mwpptnpmpmnii’

L‘g =Z+e—a

4. dplwluwlul wwpunwynpnipmGitph hwdwpdtpnipjw
uligpniliph npniypl w6 &, np wywhnjugpuyjul wuydwlwghp Yiph-
1hu wnyjw; nhuyh ghiwg wnpynn wywhnjuqpuywl hwmmgndp b
wyn nhulp vnwGalGbin hwdwp vnwgybihp  wywhnjuwqpuydwp-
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Gtpp wbwp £ hpkGg Gipyuw wpdbph hdwunny hwywuwn (hGEG dhu-
Julg: {dwdwpdtpmpnilpn juwhmymd b ywwpiwluwgph mdh dbkg
dnlbnig wGdhowwtu htnn (wnwohG wywhnjuwqpuydwph Ydw-
nnuihg htinn):
5. Lywlumhih dtpngp hhdGgwo b yhGuopnGulywl vwhdwluwghb
ptinptivh ypw b wpmwhwjmynid £ htnlyw) Yupy.
P(Ly <0)=a,

Lo—ELg “ELo \ o o (ZEo ) —
SVarly, ~ JVarly) = \/Varl,)

fotdwm 10

1. Gyuwlph wywhnjuwqpnipjul wwhniuwnp wjG gnudwnG t, npG
wlhpwdtipn £ nyju ywwhhl PhGwluuyub gqupuwynpnipjnGitph
fuwhinywo hwiwpdtipnipyniln yipwlwlqGhnt hwdwp:

2. Julph wwywhnjugpnpjul wwhnunmbGbppn hw)dupyynd
tl

w) htinwGyuwnpwjhG (prospective) — hwyyunyl hpuwywlwgymy t
wywqw hwwnngnuiGiph b wnwgybjhp wywhnjugpuydwpltiph
Gtpyw wpdtplGlph thongny,

p) httmwhwjwg (retrospective) — hwpywnplyl hpwjwlugymy k
unwgyuwd wywhnjwgpuydwnltiph b wywhnjwgpnipjul Ynunwy-
Jwo wpdtipltinh dhongny:

3. Qhunupytlp twhywl nmwpjuw ytpegnd hwwnnigynn Yjwbph
giwh wywhnjuqpnipjul wwjiwlwghp, nph hwiwp juumwpynd
GG uyqplwdwiyin gdwh wlinthmtmwjhG ydwnpltin:

LGnwGywpuyhl dtpnnny hwyqupyyuwo ywhniunp dwdwlwyh
t wwhhG YihGh.

tV = Aypr = P Uy

Uhpunting wwwhnjwqpnipjul U wlnmhwmbwnlbiph hwdwnp
wlnpunupd pwlwdélbpp’ npny dLuhnfunipynGlGbp Juumwpbng
htinn JunwGwlp ywhniunmbGbph wnwohl winpunupd pwlwalp’

tVHP =V Qe TV Py " e41V:

Uw Gpwlwlynd t, np dwiwlGwlyh ¢t ywhhG niGhguo ywhniunmhG
wybjuglting htppwijwl wywhnjugpuydwpp vnwgyud gniiwnpp
whtwp b pwjwpwnph Ywlph dbly nwpjuw wywhnjugpnipjnil hpw-
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Julwgltint b ¢t + 1-pgp mwpjw Wwhniunh pipuwo wpdbpl wuwhn-
ytint hwdwnp:

Uunwgwo  pwlGwdlh  tpyme  Ynnip puqiuwwyuwwmlybing
Lo (4 D)y Yunwlwlp wwhmuwnbhph tpypnpn wlnpunupd
pwlwalp

Lve "V +P)- (T + D) =dyye + Leresr e1Ve

Uju pwlGwadln gnyg L mwihu, np GonpuohGGaph uyqplGulu
wldwlghg x +t wmwphph hwuwo jnipuwpwlymp wldhg hwjw-
pwqnuwo wywhnjwgpuwydwpp b Gpwlg wwywhnjwqpmpjwi t-pn
nwnpjw ywhniunp shwuhG bu 4Gy mwnph § mnnuwnpniypny wpuw-
wmbjnig htinn Ypwjwpwnh x + t mwphpmd dwhwgnn d, ., pwGulyny
wldwlg 1-wjul shwynp hwnmgtint hwdwn, hGyuytu Gub nn9 dGw-
qud Ly ¢41 pwlwlyny whdwbg’ hippuwl mwpjuw ywhniump dLw-
ynpbijnt hwdwp:

Npn dLuthnfumpyniGGiphg htwmn Jwpnn Glp uvnwlw] ww-
hnwuwnGtph Gppnpn winpunupd puGwalp

Lt (VAP (X410 = Ly e41V +Hdoye - (1 — 4V,
npuntin (1 — ;,,V) dkompymGp Yngynid k nhuyh mwy qunGynn gnidwnp,
nnp gniyg E vmwhu hwnngiw6 dhonpjwul b wnyjuwy wuwhhG duwynp-
Jwo wwhniunh wnmwppbpnipynilp, wjuhlGpl wjG nhuyp, npp nyjug
wwhhl wywhnjuwqpuwb pGybpnpniln wtwnp t Yph:

Uju wlnpununpd pwlwdll wpmwhwjmnid £ htnbyw) hdwunn.
GnpwohGGph  uyqplGuwywl l, wGdwlghg x +t wwphph hwuwo
Jnipupulsjnip wldhg hwjwpwgpuwde wywhnjugpuydwnpn b Gpulg
wywhnjwqpnipjul t-pn mwpjuw ywhnwunp shwuhl bu dGY muph i
nnynuwnpnyypny w2 fuwwmnmbinig htimn whwp £ pwjwpuwptl wyn pnnp
Leye wldwGg ¢t + 1-nnp muwpjuw wwhniunp dbwynpdwG b vyuuynn
dy 4 ¢ Wwhtinh hwdwp nhuyh mwly quniynn gniwpl wuyywhnytymG:
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LhGwlwl hwpgwyupkp
Unnpnyy 1

1. Gnjuunbiwl $mGyghwb, Gpuw hwnympjniGGepp b Jhawyw-
gnuliwl hiwuwnp

2. Uwhwgnpjub Ynpp, Gpu hwnlnipjmGGhpp b juwp gqnjw-
nbdwl $nlyghwjh htin

3. Uwhwgnipjwl hGunbGuhynipjul uvwhdwlnuip b hwwlyni-
pynGGEpn

4. Gyulph wlnnnipjul dwypnpGmipwugppyGtpp’ dhohlGp, Yw-
nhwghw( U dtnhwin

5. UwhwgmpjulG wlwjhnhy optlpGtpp. 46 Umwyph, <nd-
wtingh b Ubyphtivh optilplGtnmd gnjuumbiwb nillghwb, swhwgni-
pjwl Ynpp b dwhwgnipjwl hGunbGuhynipymGn

6. Gyulph dGwgnppuyhG wmlnnnipjul pwpfudwG plnipuw-
qnhsGtpp b ngpulg mipuptipnuip “+6 Untwph optiiph hwdwp

7. Gyulph dGwgnpnujhG mbnnmpjul pwpfudwlG pGnipwugnpy-
Gtpp U npwlg nmupupbpnmip ULjphtdh optiiph hwdwnp

8. Ujwliph WGwgnpnujhG wnbunnnipjul pwfudwl pGnipwqphy-
Gtpp U npuGg nniupuptipnudp Eppulqyu puwfudwl hwdwp

9. Gyulph vGwgnpnujhG munnmpjul hhiGwlwl pGnipwugnpy-
GEND ¢Gxs P ¢y, 9 U NIWAG Phqhluul piwuwnp

10. Gyulph dGwgnpnuyhlG wnlunnmpjuG shohlp, ywphwghw,
utinhw(n b dhohG dwulwlh dGugnpnuyhG mbnnnipynilp

11.Gywlph Ymnpuguwo wnbnnmpjul pwfunip b hhiGwyw
pGmpuwgphsGpp” dhohlp, yuwphwghwl U dhohGh wlnpunwpd pw-
Gwadlp

12. Unnwpyiw6 dtpngltin YnnnpuwyuwjhG mwphpliph hwdwp:
Uwhtinh hwjwuwpwswih pupfunid

13. Unnwpyiw6 dtpngltn YnnmnpuyuwjhG mwphplph hwdwp:
{wunwuni G dwhwgnipjuG hGunkGuhynipjni

14. Unnwnpyiw6 dtpngltn YnnnpuyuwjhG mwphpliph hwdwp:
Puynnishh tGpwnpnipjnitG

15. Uwhywl wwhh hGnbqpuy pGmipwqphsh nnipupbpnudip  dw-
htinph hwjwuwpw;wih pupuiwl nhypnid
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16. Uwhyw( wwhh hGuntgpwy pGnipwgqphsh nnipuptipniip  hwu-
nwwnnil twhwgnipjul hGunbGuhynipjul niypnid

17.Uwhywl wwhh phGntqpuw) pnipwuqgnppsh nnipupbipnuin Pwy-
nnishh Gpwnpnipjw b nhwpnid

18. UWGhwwnwlwb hwynh dtonpjul pwpfudwb pGnipuwqphsGtiph
qlwhwwnudp Yyuwlph yupdwdwidytn wywhnjuwagpnipjwl dnnbpnid

19.UGwGywgiwl hwjwlwywlnpjul dnunwpynmdp Yjubph
Jupdwdwiytinm wywhnjugpnipjwl dnnbijnd

20. Uywhnjuwqpuydwpltph Gulwydwl uyqpmilpGbpn: k-nn
wuwjiwlwgnh hwytjwydwph npnynuip thohGh hwiwdwulinip judp

21. Uywhnjuwqpuydwpltph Gulwlydwl uyqpnilplbpp: k-pn
wuwjiwlwgnh hwybpuydwnh npnynudip Juphwghwjh hwdwdiwulnip-
Judp

22. Uywhnjuwqpuydwpltph Gulwlydwl uyqpmilpGbpp: k-pn
wuwjiwlwgph hwytjwydwph npnpnip dhohG pwnwyniuwjhl tn-
dwl hwiwdwulnipjudp

23.Qjulph wbnnmpjul b Jwhjwl wwwdwnh hwiwwnbn
pwfuiwl dnGlyghw b

24. Ut} wwwdwnny Jupquyhdwlyh Ynpunmh wnyniuwlyh
nwppbpp

25.Uh pwlh wwwdwnny Jupquwyhdwlih Ynpunmh wmwphpwjhl
qnpowyhglbpp

26.Uh pwlh wywwdwnny Ywpqwyhdwlih Ynpniunp hwuwmw-
nntl twhwgnipjwl hGunbGuhynipjul GGpwunpnipjul nhwypnid

27.Uh pwlh wwwdwnny YJuwpquyhdwyh Ynpniuwnp dwhbph
hwjwuwpwswih pupfudiwl Gapwnpnipjwb ghivypnid

28.Uh pwlh wwwdwnny Jupquyhdwyh Ynpump wnyniuwlGbn
Juqutint uyqpmilGpGtipp

Unnpny 2

l. Gyulph wlplinhwn wywhnjugpnipjul mbuwyGtph Gyw-
pugpnipjnilp by b t(t) vhomp nGGtph dhongny

2. Yywulph nhuyptn wywhnjugpnipjwl wntuwlibph Gyupw-
qnnipjnilp by b T(t) dhompjmGGtph thongny
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3. etpjwo wpdbtph nhuybpuhwjh pinptivp

4. Gyuliph n-nwpdw dwpnip YnrnwluwjhG wyywhnjuwqpnipniG

5. Qyulph giwh wwwhnjugpmipjwl vhwljwq Ghunwnn-
wyjwhnjwqpwydwph gnipupbipnuip wipinhwn wywhnjugpnipjw b
unnbijnd

6. Gyulph n-nmwpjw dwdftimwjhG wuywhnjuwqpnipjul dhw-
(yuwq Gbnunn-wywhnjuwqpuydwph nnipupbipnuip wlpnhwn w-
wwhnjuwqpnipjwl dnnbjnid

7. GQyulph n-nwupjw hwelG wywhnjugpnipjuwl dhwijug
Ghnunn-wywhnjuqpuydwph nnipupbpnuip wiplghwn  wwywhn-
Jugpnipjwl dnnbijnid

8. Qjwlph m-nmwpny htnmwéquwo giwh wywhnjwqpnipjul
thwljwq Ghnnn-wywhnjuqpuydwph nnipupbpnuip wlplnhwwn
wuyjwhnjwqpnipjul dnnbnd

9. Gyulph m-nnwpny hbtunwdqud n-nwupju dwdlytinwhG
wywhnjwqpnipjul shwijuq Ghnnn-wwwhnjugpuydwnph nnipu-
ptipnuip wiplGnhwn wywhnjwagpnipjwl dngbinud

10.Udnn hwwnmgnuiGbpny Yjuwlph giwh wwwhnjuqgpnipju
vhwijwq Ghnnn-wywhnjuwqpuydwph npnipupbipnuin wiplnhwwn
wywhnjugpnipjul dnnbjnid

11.Udnn hwnmgmuGtpny Yjuwlph n-nmwupju dwiytinwjhl w-
wwhnjuwqgpnipjul thwljwq Ghnnn-wywhnjuwgpuydwph gonipupb-
pnuip wiplnhwn wywhnjwgpnipjwl dnghinud

12.°bJwuqnn  hwnmgmiGtpny  Yyuwlph wwwhnjuqgpnipju
vhwljwq Ghnnn-wywhnjuwgqpuydwph npnipupbipnuin wiplnhwwn
wywhnjugpnipjul dngbjnid

13.Qyulph guwh wywhnjugpnipjul dJdhwijwq Ghnwnn-
wywhnjuwqpwydwph npoipupbipnuip ghuljpin. wywhnjuwgpnipjw b
unnbnid

14.Qyulph n-nwupju dwdytmwihl wywhnjugpmpjul dhw-
(ywq Gtunwunn-wywhnjuwqpuydwph nuupuptinnuip ghuyptin wwywhn-
Juqgpnipjwl dnnbnid

15.Qyulph n-nwpjuw fuwni wywhnjuqpnipjul dhwijuwq
(tinunn-wywhnjuqpuydwph nnipupbpndip ghulptim wywhnjug-
nipjwl dnnbjnd
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16. Gyulph m-nwpny htimwdquo giwh wwwhnjugpnipjul
vhwijwq Ghnnn-wywhnjuwqpuydwph nonipupbipnuipn ghujpbin w-
wwhnjuqpnipjul dnnpbnd

17.yulph m-nnwpny hbnwdquo n-nwpjuw  dwiybnwjhG
wywhnjuwqpnipjul shwijwuq Ghnnn-wwywhnjugpuydwnh nnipu-
ptinnudp nhulptim wywhnjwgpnipjwb dnnbjnud

18.Udnn hwunmgnmuiGupny Yjwlph giwh wwwhnjwqgpnipju
thwijwq Gnunn-wywhnjugpuydwnph gnipuptipnuip  ghuypbum
wujwhnjwqpnipjul dnpbnid

19.U6nn hwwnnmgnuiGbpny  YPwlph n-nwpjuw  dwdftnwhG
wywhnjugpnmpjwl thwijuwq Gnnn-wywhnjwqpuydwph nnipu-
ptipnuip nhuljptin wywhnjwgpnipjwl dnnbijnud

20.'vJwugnn  hwnmgnuiGepny  Yuwlph wwwhnugpnipjul
dhwijwq Ghnunn-wywhnuqpuydwph nymipuptipniip ghuypbun
wywhnjugpnipjwl dngbnid

21. Yuuwp wlplinhwn U ghuyptin hwunmwnnmG hwwnnignud-
Gtpny wywhnjuwgpnipjwl mbuwyGiph dhol

22. Guyp wiplnhwwm U ghuyptn wann hwnngnuiGbpny wwyw-
hnjwqgpnipju G wntuwyGtph dhol

23. UlGnpunwpéd (nbyniptlm) pwlwdbbtiph ngnipupbipnuip Yywbph
wywhnjugnnipjwl wlnlnhwwm mtuwlGtph hwdiwnp

24. Uyqpludwiytin gdwh winthmbnh wijnnmwpuwlwl pipjuo
wndbtiph pwGwdlbh wpnwonuip’

w) gnuiwpjw] Yydwnph tnulwuyny,

p) nGpwghy Yéwph tnubwyny:

25. Uygqplwdwijtn n-nwpju dudytinwghl wlnithnbnh wy-
nmwpuwyuwl ptpjwo wpdtph pwiwdbh wpnmwonuip

w) gnuiwpjw] Yydwnph tnubwyny,

p) plpwghy Ydwph tnwlwyny:

26.UyqpGuwdwdiytn m-nwpny htnwdquo wlnthmbwh wy-
unniwpuyul pipduwo wpdtiph puGwdbh wpnwonip’

w) gniiwpjw] ydwnph inuGwyny,

p) nGpwghy Y&wph tnubwyny:

27. Ugunmuwpuyuwl ghuynGunuynpdwl gqnpowygh b wliwmniw-
pwjwl Ynunuydwl gnpowygh Juuwp YhtlGuwpnpwlywihG hhilGw-
npuih ophGwyny
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28. dwiwlwlyh n yuwhhG wymnwpuuwli Ynnwlydwl pwlw-
Auh wpnwonuip Yywlph whnihntinh hwdwnp

29.Swpjw plpwgpmi m wiqud Yydwnpyny wlnthnbtnmbhp: a, b
4 ShompmGatph thol Yuwyp wwpw pGpwgpnid Swhph hwiw-
vwpwswih pwpfudiwl Gapwnpnipjwb ghiypnd

30. Swpjw pGpugpnid m wiqud Yowpynn wlinthmtnGbp: 4, b
é)((m) utionmp niGGtph dhol Juwp wwpjuw plpugpnid Dy dtonipju
hwjwuwpwswih pwpudwb Gapwnpnipjwb nhuypnd

31.Udnn Ydwpny Yuwlph ulqplwdwiytim giwh wlnihnbunh
wlyunntwpuwyul ppdwo wpdtiph npnipuptipnudp

32.Udnn Ydwpny n-nwpjuw  dwdftimwihl  ulqplGuwdwiltin
wlnthnbmh wijnnwpwlywb ptpuwo wpdtiph nnipuptipnuin

33.°vJuqnn  Ydwpny Yulph ulyqpluwduiytin  wlnithmbwnh
wlunnupwlwl pipdwo wpdtph nnipuptipniudp

34.UGpGnhwwnm wéng Yjuwlph gdwh winthnmbnh winniwpwlwb
ptipjwo wpdbph nnipupbpnuip

35. Bpqpunn ydwnpny uyqpliuduiytivn wlnihntnbbn

36. Bpqnwunn ydwnpny ytpg Gwdwiltin wlnihntinlbin

37. bplwGuwul wwpunwynpmipjmGGiph  hwdwnpdbpnipjul
ulqpnilpp: Qnmun b hwiwjuwnl wywhnjugpuydwnpltip: Uwwhn-
Jwqgpwydwnph vwhiwldwb pjwlwmhih dtpnnp

38. bplwluwuml wwpumwynpmipjniGGiph  hwdwpdtpnipju
uljqpnilpp: 9nin b hwdwpuwnl wwywhnjuwqpuydwnbtn: Uwuw-
hnjwqpuydwph vwhdwlnip pinGuwontpjub thongny

39. MwhnuwmGtpph hwyyupyiwl htnwlywpwjhlG (prospective,
nepcriekTuBHBIN) Utipnnp (ptipty 3 ophGwy)

40. NMwhmuwnGtph hw)upyiwl htmwhwjwg (retrospective) uk-
pnnp (phinty 3 ophtuwy)

41. MuhmuwnGtph hwpyupiwb hinwGupuyhl b htmwhwjwg
dtipnnGtph Gyupuwgpmipynilp b npulg hwdwpdtpmpmin (www-
gniygn phiptp wywhnjuwgpnipjwl nput mbuwyh hwdwn)
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Luwybpjuwo 1
Uwhwgnipjul wwjhmhYy opklplkp

Ah Uniufph oplilip (1729p.)

Glpwnnynud t, np Ywlph wbnnmpjmbp hwjwuwpwsuth k
pwfuwo (0, w) dhowyuwjpnid, npubn w-6G Yngymd t uvwhdwlwjhG
wmwnpphp: Uju dnpbjmd Yyuwlph nbnnnipjuwl pGnipwgphsGnG niGhG
htimljwy mbupp’

1

1
FO) == F) = =,500 = 1= = py = ——,

(<] w—X
ex=T,O<x<w:

<ndyhkpgh ophtlip (1825p.)

Uju inpbinud GGpwnpynid £, np dwhwgnipjulG hGuntGuhynipyni-
Gp wwphphg Ywhuwo E EpuynGhlGumwlwb optilipny: Gjwlph wmln-
nnipjul plGnipwgnhpyGtinG nGhG htinbyw] mbupp’

_ . _ ~ e — 1
U, = Be®, s(x) = exp|—B " ,

ax

f(x)=B-exp<ax—B ),B>0,a>0:

Ulijphlidh wnwphti ophkilip (1860p.)

b mwpptipnipjniG {<ndybtpgh optiliph’ Ukjphtidh dnphinid dwhw-
gnipjwl hGntGuhympyniGl niGh Gwb wquum wlnud, npp Gwjuw-
ntujwo b ndpwjun wuwmwhwnpltiphg dwhwgnipynilp Giuwpwagptint
hwdwn, Jwd, wy Yipy wuwo, wyn pununphsp pmpugpmd £ wyG
pnnp dwhtipp, npnGp wntnh G6 mGtgh] wGywhe wwphpwjhG gnp-
onlhg: Unntjnud Yywlph wnbnnnipjuwl pGnipwgphsGhnl niGtG hb-
wnbjw) mbupp

e —1
Uy = A+ Be™, s(x) =exp (—Ax - B " )
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eax

f(x)=(A+Be“x)-exp(—Ax—B ),A,B,a>0:

Utijphlidh Gplpnpn oplitip (1860p.)

Utjphtivh tpypnpn optiGpnid wytjulmy t Lu dkY punuwnnhy,
npp Ghpwnnud £ dwhwgnipjwl wjyl Gpunypltinp, npnlp ninhn hudb-
dwunwyuwl GG mwnphphl: Uju nhiypnid

2 ax_

t, = A+ Hx + Be™,s(x) = exp (—Ax —H%—Be 1),

a
Hx? e —1
f(x) =(A+ Hx + Be™®)-exp| —Ax — > - B " ,

AH,B,a>0:

dhjpnijh oplilip (1939p.)

Uju dngtiimd dwhwgnipjwl hGunbGuhynipyniGp Gyupugpynid
wuwpquubu gnigswjhG opklpny, uwlwjl thnpdp gniyyg L wmyby, np
hpwiwl dwhwgnipniGp Gywd ontlplhiphg wditlGwjwy plnipw-
gnnud £ htiGg wju optilipp: ®npn wmwpppltipnid (GhGsk 1 mwpblwb)
w)G hwynd nmGh GJuqgtint, huy dto mwphpltipnud (70-80-hg htivn)
wyth Yupniy wabknt: Gyulph mbnnnipjwb pnipwgphsGnl niGhG
htinlbjw) mbupn’

n+1

= o500 = exp (~S2 ), ) = ey (-2,
Uy = kx™, s(x) = exp n+1,fx—xexp 1)

Epqutigh ophlilip

Uju optilipl wnwyt) hwjwnbh £ npuybu tpypnpn yupgh Eppubg-
Jwl pwhund b Gwuidw pwpfunudGbph nuwup dwulwyh nbwp k:
Guidw pwpfundGtph wnwyt) (wyG nuuph $nlGyghwltph Yhpwn-
dwip Junbh £ hwubby yuwiph mbnnnipjul wybh jwy dnnwpyiwi:
Yjwlph munnmpjul pmpuqnphsGtpt niGh6 htmbjw mbupp’

x+a _x X o

x X X
f(X):;e a, S(X)Z 4 e al, = m,e():Za:

75



Luybipjwo 2
Lwiwfu Yhpwnyny pwlwdhbp

Uju pwdlnd Gipjuwjuwgdwo bl wjG hhdGuwywl pwGwdalbpp,
npnlp wlhpwdtywm GG fulinhpGtph nodwl hwdiwp: Uyunniwpwlwb
pwlwdltinh b wnynuwybtph d6o Swywy £ ywnpniGwyynd Ukd Lpp-
nwlhwjh wynnwnpGbph pGunhwnnunh [7] qppnid:

Quiddw pnilifghw

I'(x) = J t*le~tdt,x > 0:
0
UG niGh httmmbyw] hwnynmpymGGtpp
I'(x)=(0—1DI'(x—1),
rm)=n-1DL,n=123,..
1
r(z)=ve
Unypwplhdwbl dkpnnlikip
Pnnp dnpbGtpnd Gepwnpynud t,npn e N, huy ¢t € (0,1):
1. «Uwhtph hwjwuwpwswth pwpfunii»
sn+t)=0-t)s(n) +ts(n+1)

_ qn
Hn+t 1-tq,
tdn = tqn
tludn = Uqn
1
a(x) = ok

2. «wunwuntl dwhwgnipjul hGntGuhynipjwl»
s(n+t) =s(n)pf,

Unse = —Inpy,

1 ¢
a(x) = - é + 0(q,):

3. «hwytppnihy» (Gud «Pwnnighh GGpunpnipjuly»)
1 1-t t

s(n+1t) - s(n) + s(n+ 1):
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s(n+1)
Pn + gy
An
Pn +tqy
1-tn+e = (1 = 8)qy
qx

1
a(x) = 57 E"‘ 0(qy):

s(n+t) =

Unye =

Swjbjwduph vwhdwblidwl dhpnnlikp

UGhwunwywl hwybpuydwnh vwhiwldwl dtpnnlbpp pwqiw-
qui G0, npulg pwlwlp dnun E dhy mwulyulhl, vwlw)l wjumntin
Gipyuwyugywo GG npwlghg wnwyt] hwdwh oquugnpoynn mwppt-
pwlGtpn: Canhwinip hwytuwydwnph hwiwp ¢ hwywlwlywlinipjudp
suwlyubum nhypnd wnwgymd t [ = x, -VVarS, npntn x, -G
unwlnupu Gnpiw] pwpfudwl ¢ pJuGuhG t: Canhwlnip hwytjw-
Jdwpp whiwp b wpnhty wywhnjuwgpwo wldwlg dhol b unwGwy
wlhwnwlwb hwytjwydwnh dhompjniln:

[;-G wGJwlnwd GGp nhuwjhG hwybnid:

0; = El—éi—ﬁ wijwimu tip hwpwptpuywl nhuyjwjhl huybnu:

k-G Yngynid £ hwitdwwmwuGnipjul qnpowyhg:
1. Uywuynn YGuup jud gnun wywhnjuqpuydwph hwdw-
dwulnipjudp
li=k-E§,
VVarS
ES ’
0; =k:
2. “huybtpuhwjh hwiwdwulnipjwip
Iy =k-Varé,
k= —&

VVarS '

x, Varé;

VvarS E&
3. UhohG punwyniuwjhl ptndwG hwiwdwulnipjudp

k=x,
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ll' =k- w;Varfl-,
_ VVarS

=X,
y:l \' Var{i )

VVarS _ JVaré P

¢ MVarg,  ES

Nuhniuplibph hw)dJupldw i wlinpuwnwups puwbwushhp

{wpyph wnGhny wwywhnjugpuyuwl wwjdwlwaqptph hGswbu
hwunignuiGtiph, wjlwbu £ wywhnjuqpuydwpltiph juunwnpdiwb
pwqiuquimpmilp vnnpl Gepyuwjugywd G0 thwjl vkl dwuGwynp
wwjdwlwgqpph nbhypnd ywwhnunGbph hwyupyiwl winpunupéa
pwlwadlbinp, hul Wmultpp Jupbh L onwlo] hwiuwyuwnwouw
thnthnfumpmil juunmwnpting wywhnjuwgpuydwnpltph hwdwhwljw-
Gnipjul U pwGulh, hGyybtu Gub mpuiwgpynn hwnnigdwl Whoni-
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